# **TOHS OF HEWSLETTER**

Home to the Fall Session of the Raleigh Dart League for week #2, Wednesday, February 1, 2023 Issue #JK834 The "Newsletter I Can't Decide If I Dreaded Writing, Or If I Really Needed To Write, Or Both" Edition

The state of the s

# THE RDL IS SO VERY MUCH LESSER TODAY...

Tons readers... I'm going to apologize in advance here, as I feel that things may go a little differently than normal for the next few minutes. Generally, I try to make this newsletter be for everyone, as equally as possible at all times, across all divisions. But I'm pretty certain that I'm about to take a little space here in the Tons for myself. I'm going to write this once, with no rewrites or edits, as I have saved this item for the last one this week, and I won't have the will to rewrite any part of it. It will be what it will be. First, the base facts here. Last Tuesday, the RDL lost Doug Jeffcoat, who I would contend has been one of the most "core" league members for literal decades. Jeffcoat, presently of Consistently Inconsistent, has been an RDL member since before I got here in 1995 (I've spotted him in some of the random newsletter pdfs I've collected from pre-'95, but I'm not certain when he joined). He won a veritable pile of season titles and tournament mugs all the way through the top division, he captained the Raleigh City Cup team for many years, and he won dozens of league championships across Triangle area leagues. He is such a dart league fixture that many within his family (wife Angela and their sons Kyle and Cody Gaulthier) have become league and tournament legends across the state in their own right. But beyond the "actual dart league" stuff, I think it's entirely possible that Jeffcoat might well have befriended and hosted more area darters than anyone I've ever met. Ever the host, ever the friend, it's a little tough to imagine anyone in the league that more of us knew, loved, and appreciated. For those who would like to come share their favorite memories of Doug, a Celebration of Life gathering will be held this coming Saturday, Feb. 4th, 2-5 pm, at the DoubleTree by Hilton, 4810 Page Creek Lane, Durham 27703.



And now here is where I'm going to take a little selfish space on this page. Every single time I report in these pages that we have lost one of our own, it is sad for all of us, but obviously much sadder for those of us closest to the person being remembered. And today, I stand among that sadder group. We have all lost people close to us, myself included of course, but this week I think I realized some things to which I never really gave voice, because that's just not me. I've never been one to continually need to label things or over-analyze the facets of my life, so I've never cared to define my "inner circle" of friends or anything like that. Never given it much thought before now. But I have found myself this last week mostly avoiding social media (even more than I normally do) and seemingly steering away from too much talking about the loss of Doug. I've lost friends before (too many, recently), but this time has been different. As though I could somehow hold off reality for just a bit longer. Intellectually, I obviously know that Doug is no longer here. At the same time, it's as though some unrecognized subconscious piece of me just isn't ready to move past the disbelief and accept reality. I'm a little embarrassed to admit something so clearly illogical, but there it is. I can't honestly say that Doug was my 'best' friend, and I'm quite certain that I was never his. But when I look back at the photo reel of the best moments of my life for the past two decades (both virtually in my mind, and physically on my camera / phone / computer), there may be no person beyond my own wife and children who appears so regularly as Doug. I traveled with him, and I celebrated with him. We

shared dinners, parties, concerts, road trips, sporting events, cookouts, festivals. We had so many of the same interests that we shared hobbies, and we often found the same things funny and/or interesting. He was a partner in crime, and one of the first people with whom I would check in any time I was planning an event, group activity, or place to go. He was maybe the living epitome of one of my favorite sentiments, about the best family being the family you choose rather than the family into which you are born. I'm not sure I can count the number of holes in my life that now exist due to Doug's absence. It's hard for me to even comprehend what others even closer to Doug (obviously starting with his actual family) must feel. All I know is that I'm ready for the sadness and disbelief part of this to start ebbing away so that I can start filling in all the holes from his absence with the heaps of happy memories I have with him. At this moment, that feels far away, but we'll get there.



I hope that wasn't too much nonsense typing. And I hope it wasn't too wildly off-topic for a dart newsletter. But I did warn you, and I actually retract my apology (I'm pretty sure I apologized above). I'm not sorry at all, actually. I think I needed to put something in print for my own psyche. I'm a bit of a writer, I don't do social media much, and I won't be able to attend the celebration of Doug's life (well, at least the official one, as I will likely celebrate him in my own mind often over the next many years). So maybe this was just part of my personal goodbye to one of RDL's absolute best people. Thanks for indulging me a bit. And now I'm going to do something else I've never done in a memorial here before - I'm going to bump the text over and include myself in a photo. Because I just want to. I miss you so, my brother.

# **RDL HEADLINES**

"<u>A" Division</u>: Fringe, Bullies each sweep two sets to roll. "<u>B" Div.</u>: Dart Attack pulls one from the fire with 501/1001 sweep; Serious welcomes Iceman's with big doubles. "<u>C" Div.</u>: McGavin outlasts Sanchez in 1001; Show Me wins 5 doubles over Rif Raf. "<u>D" Div.</u>: Bandits lead big, fall behind, win in 1001; Cheapies sweep 501 to dump Rangers. "<u>E" Div.</u>: Irish climbs out of 12-4 hole against Death Throw; Ducks make statement. "<u>F" Div.</u>: Dart Side wins with only 4!!; Bangin, Sofa, Idiots roll. "<u>G" Div.</u>: Corks and Rippin sweep 501 for wins; Punk forfeits.

Name the band/singer? the song? Do you know the theme? This is one of the most popular items, so obviously it's back for a 23rd season. [Quick warning for this set: the only initial 'theme' here is that all three songs are by the same band. So this set is likely very tough...] Week 2, song #1 lyric: "Counting all the assholes in the room, Well, I'm definitely not alone, well, I'm not alone"
Week 2, song #2 lyric: "Holding onto his words, but baby, I saw an angel become the Devil, Still they look pretty good hand in hand" Week 2, song #3 lyric: "Feel the power of a warrior, fight fight fight fight, Let's get ready to rumble, fight fight fight fight"

V         L         Pro- Property         Tenson Store 3         <			DIVISIO	ONAL T	EAN	I STANDI	NGS and MATCI						1 (1/25	/23)		
Image         1         0         19         Darry Minds         6         2         0         0         4         -         8         -         -           2         The Global Element         0         0         0         0         1         1         0         18         4         6         6         2         24.0         -	_			W	L	Pts.						/	<u>1001</u>	ASPs	Short- <u>handed?</u>	Penalties
Image: Second		1	Lunatic Fringe	1									-		-	-
7       Armed & Hammered       0       1       5       Element       .       (BYE)       .       .       .         2       Bindsided       1       0       17       Mat's Tab       12       2       4       6       0       1       13       2       2       4       6       0       1       13       2       3       4       4       2       2       4       6       0       1       13       2       2       4       6       0       1       13       2       2       4       6       0       1       13       2       1       13       1       13       2       2       1       15       5       1       0       10       <	<u>u</u>	2	÷	1			•					-	-		-	-
7       Armed & Hammered       0       1       5       Element       .       (BYE)       .       .       .         2       Bindsided       1       0       17       Mat's Tab       12       2       4       6       0       1       13       2       2       4       6       0       1       13       2       3       4       4       2       2       4       6       0       1       13       2       2       4       6       0       1       13       2       2       4       6       0       1       13       2       1       13       1       13       2       2       1       15       5       1       0       10       <	isio		The Global Element	0	0		Liver				(m	atch			-	-
7       Armed & Hammered       0       1       5       Element       .       (BYE)       .       .       .         2       Bindsided       1       0       17       Mat's Tab       12       2       4       6       0       1       13       2       2       4       6       0       1       13       2       3       4       4       2       2       4       6       0       1       13       2       2       4       6       0       1       13       2       2       4       6       0       1       13       2       1       13       1       13       2       2       1       15       5       1       0       10       <	Div		Liver Alliance	0	0	0 *	Inconsistent				post	ponec	ł)		-	-
7       Armed & Hammered       0       1       5       Element       .       (BYE)       .       .       .         2       Bindsided       1       0       17       Mat's Tab       12       2       4       6       0       1       13       2       2       4       6       0       1       13       2       3       4       4       2       2       4       6       0       1       13       2       2       4       6       0       1       13       2       2       4       6       0       1       13       2       1       13       1       13       2       2       1       15       5       1       0       10       <	Ē		Consistently Inconsistent	0	0	0 *	Armed	5	0	1	0	4	-	18.0	-	-
I         Why So Serious?         1         0         17         Mat's Tab         12         2         4         6         0         1.         13.5         .         .           3         Bindsided         1         0         14         Dart Attack         12         2         1         4         3         2         2         4         4         4         2         2         . <th< td=""><td>=</td><td>6</td><td></td><td>0</td><td>1</td><td>6</td><td>Fringe</td><td>19</td><td>6</td><td>5</td><td>6</td><td>2</td><td>-</td><td>31.5</td><td>-</td><td>-</td></th<>	=	6		0	1	6	Fringe	19	6	5	6	2	-	31.5	-	-
Bindikided         1         0         14         Dart Attack         12         4         2         0         6         W         1+5         -         -           Born Baby         1         0         13         2         3         4         4         3         2         -         185         -         -         -           Put It on Matt's Tab         0         11         12         Serious?         17         4         3         6         4         - </td <td></td> <td>7</td> <td>Armed &amp; Hammered</td> <td>0</td> <td>1</td> <td>5</td> <td>Element</td> <td>-</td> <td></td> <td>(BY</td> <td>YE)</td> <td></td> <td>-</td> <td>-</td> <td>-</td> <td>-</td>		7	Armed & Hammered	0	1	5	Element	-		(BY	YE)		-	-	-	-
Some Baby         1         0         13         Born Haby         13         2         3         4         -         22.5         -         -           5         Put It on Matt's Tab         0         1         12         Contaws         11         4         3         2         2         -         18.5         -         -           5         Put It on Matt's Tab         0         1         11         Scrious?         17         4         3         6         4         -         16.5         -         -           7         Double In, Uber Out         0         1         0         16         McGavin         12         3         5         2         W         10.5         .         -		1		1			Matt's Tab					0		13.5	-	-
1       7       Double In, Uber Out       0       1       10       Uber Out       10       4       4       0       2       -       13.0       -       -         8       Iceman's Far Defenders       0       1       7       Blindsided       14       2       2       6       4       -       14.5       -       -         1       Trippin Bulls       1       0       15       Sanchez       12       3       1       4       4       L       15.0       -       -         2       Show Me Your Tips       1       0       12       Show Me 15       3       2       4       4       4       L       15.0       -       -         4       Double In Stumble Out       0       0       0       Rif Raf       9       3       4       2       0       4       4       0       15.5       -	21			1									W		-	-
1       7       Double In, Uber Out       0       1       10       Uber Out       10       4       4       0       2       -       13.0       -       -         8       Iceman's Far Defenders       0       1       7       Blindsided       14       2       2       6       4       -       14.5       -       -         1       Trippin Bulls       1       0       15       Sanchez       12       3       1       4       4       L       15.0       -       -         2       Show Me Your Tips       1       0       12       Show Me 15       3       2       4       4       4       L       15.0       -       -         4       Double In Stumble Out       0       0       0       Rif Raf       9       3       4       2       0       4       4       0       15.5       -	sio	-		1			•					-	-		-	-
1       7       Double In, Uber Out       0       1       10       Uber Out       10       4       4       0       2       -       13.0       -       -         8       Iceman's Far Defenders       0       1       7       Blindsided       14       2       2       6       4       -       14.5       -       -         1       Trippin Bulls       1       0       15       Sanchez       12       3       1       4       4       L       15.0       -       -         2       Show Me Your Tips       1       0       12       Show Me 15       3       2       4       4       4       L       15.0       -       -         4       Double In Stumble Out       0       0       0       Rif Raf       9       3       4       2       0       4       4       0       15.5       -	ivi			1									-		-	-
1       7       Double In, Uber Out       0       1       10       Uber Out       10       4       4       0       2       -       13.0       -       -         8       Iceman's Far Defenders       0       1       7       Blindsided       14       2       2       6       4       -       14.5       -       -         1       Trippin Bulls       1       0       15       Sanchez       12       3       1       4       4       L       15.0       -       -         2       Show Me Your Tips       1       0       12       Show Me 15       3       2       4       4       4       L       15.0       -       -         4       Double In Stumble Out       0       0       0       Rif Raf       9       3       4       2       0       4       4       0       15.5       -	"	5		Ŭ,									-		-	-
8         Iceman's Ear Defenders         0         1         7         Blindsided         14         2         2         6         4         -         14.5         -         -           9         2         Show Mc Your Tips         1         0         15         Sanchez         12         3         5         2         2         W         10.5         - <td>"B</td> <td>6</td> <td></td> <td>-</td> <td>-</td>	"B	6													-	-
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	•	7							-						-	-
Sec         2         Show Me Your Tips         1         0         15           Source McGavin         1         0         12           Show Me         15         3         2         4         6         -         2.5         -         -           Show Me         15         3         2         4         6         7         1.5         -         -           Show Me         10         12         Show Me         15         3         2         4         6         1.5         -         -           Tippin         16         3         5         4         4         -         1.5         -         -           1         Off Constantly-Reboot         1         0         16         DD-214         8         2         2         0         4         -         9.0         -         -           2         Cheap Shots         1         0         12         Banditis         12         3         1         6         2         4         We         0         -         -           3         Opt Constantly-Reboot         1         0         12         Banditis         12         3		8	Iceman's Ear Defenders	0	1	7	Blindsided	14	2	2	6	4	-	14.5	-	-
		1		1	-				-						-	-
1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         1         0         1	no			1											-	-
1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         1         0         1	visi	-		1											-	-
1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         1         0         1	Di	-			-										-	-
1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         1         0         1	Ľ		•						-	-					-	-
$ \begin{array}{ c c c c c c c c c c c c c c c c c c c$	=	6							3			4			-	-
Sign of Armed Bandits       1       0       15       Off Constantly       16       4       4       6       2       -       17.0       -       -         4       Menace 2 Sobriety       0       0       Bandits       12       3       1       6       2       -       17.0       -		/	Nine Lives	0	I	8	Stumble Out			(B)	YE)		-	-	-	-
3       One Armed Bandits       1       0       12       Bandits       12       3       5       0       4       W       17.0       -       -         4       Menace 2 Sobriety       0 <t< td=""><td></td><td colspan="4"></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td>-</td></t<>															-	-
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	ion			1											-	-
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	vis	-		1	-							-			-	-
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	ã														-	-
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	à	-					U U								-	-
$ \begin{array}{ c c c c c c c c c c c c c c c c c c c$	- 1						mmmmmmmmmmmmmmmmmmmmmm		3		-	0	-	******	-	-
2       Hump Day!       1       0       13       YNTA       11       4       1       2       4       -       7.0       -       -         3       Irish Ton       1       0       12       Duckas       18       5       5       6       2       -       15.0       -       -         4       Sharky's Machine       0       0       0       0       0       11       4       1       2       4       -       7.0       -       -         6       Y.N.T.A.       0       1       12       3       5       4       0       L       13.5       -       -         7       That's What She Said       0       1       1       11       4       10       4       3       5       4       0       L       13.5       -       -         7       That's What She Said       0       17       Shark Shooters       7       2       3       0       2       -       6.0       -       -       -         9       Dart Side of the Moon       1       0       16       3       2       2       6.0       -       -       -       Shoot-		/		0							<i>,</i>		-		-	-
3       Irish Ton       1       0       12       Duckas       18       5       5       6       2       -       15.0       -       -         4       Sharky's Machine       0       0       0       0       0       0       She Said       6       1       1       0       4       -       3.5       -       -         5       Death Throw       0       1       12       Death Throw       12       3       5       4       0       L       13.5       -       -         6       Y.N.T.A.       0       1       11       Irish Ton       12       3       1       2       6       W       12.0       -		1		1									-		-	-
5       Death Throw       0       1       12       Death Throw       12       3       5       4       0       L       13.5       -       -         6       Y.N.T.A.       0       1       11       Irish Ton       12       3       1       2       6       W       12.0       -	no			1											-	-
5       Death Throw       0       1       12       Death Throw       12       3       5       4       0       L       13.5       -       -         6       Y.N.T.A.       0       1       11       Irish Ton       12       3       1       2       6       W       12.0       -	visi			1	-				-				-		-	-
E       6       Y.N.T.A.       0       1       11       Irish Ton       12       3       1       2       6       W       12.0       -		-								-			-		-	-
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Ε"									5					-	-
I       Bangin The Wire Village Idiots       1       0       17       Shark Shooters       7       2       3       0       2       -       6.0       -       -         J       Stark Shooters       1       0       17       Shark Shooters       7       2       3       0       2       -       6.0       -       -         J       Stark Shooters       1       0       17       4       3       6       4       -       12.0       -       -         J       Dart Side of the Moon       1       0       10       10       10       10       10       10       3       5       2       6       -       6.0       -       -         Shoot-Da-Bull       0       1       8       1       3       2       2       -       9.0       -       -         Shoot-Da-Bull       0       1       8       1       3       2       2       -       9.0       -       -         Shoot-Da-Bull       0       1       7       Dart Knights       7       2       3       0       2       -       7.0       -       -       -       -       -	= 1	6							3			6				-
Village Idiots       1       0       17       Bangin       17       4       3       6       4       -       12.0       -       -         3       Sofa Kings       1       0       16       Ton 80 Proof       8       3       1       4       0       -       7.5       -       -         4       Dart Side of the Moon       1       0       10       Sofa Kings       16       3       5       2       6       -       6.0       -       -         5       Ton 80 Proof       0       1       8       1       3       2       2       -       9.0       -       -         5       Ton 80 Proof       0       1       8       1       3       2       2       -       9.0       -       -         5       Ton 80 Proof       0       1       7       Dart Side       10       3       3       2       2       -       1.0       2 short!!       -         7       Shark Shooters       0       1       7       Idiots       17       4       3       6       4       -       8.0       -       -         7       Short-Da-		/	That's What She Said	0	I	6	Machine	-		(B)	YE)		-	-	-	-
3       Sofa Kings       1       0       16       Ton 80 Proof       8       3       1       4       0       -       7.5       -       -         4       Dart Side of the Moon       1       0       10       10       10       10       10       10       Sofa Kings       16       3       5       2       6       -       6.0       -       -       -         5       Ton 80 Proof       0       1       8       16       3       5       2       6       -       6.0       -       -       -         5       Ton 80 Proof       0       1       8       16       3       2       2       -       9.0       -       -         5       Shoot-Da-Bull       0       1       8       1       3       2       2       -       1.0       2 short!!       -         7       Shark Shooters       0       1       7       Dart Knights       7       2       3       0       2       -       7.0       -       -         8       1       0       16       Corks       16       3       5       2       6       -       7.5 <td></td> <td>1</td> <td></td> <td>1</td> <td></td> <td>-</td> <td>-</td>		1		1											-	-
7       Shark Shooters Neighborhood Dart Knights       0       1       7       Dart Knights       7       2       3       0       2       -       7.0       -       -         Neighborhood Dart Knights       0       1       7       Idiots       17       4       3       6       4       -       8.0       -       -         1       Runs with Corks       1       0       16       Corks       16       3       5       2       6       -       7.5       -       -         Nein Mark       1       0       16       Corks       16       3       5       2       6       -       7.5       -       -         3       Rippin Darts       1       0       15       Punk       0       (match       -       -       -         4       We're Sexy & We Throw It       0       0       0       0       Nein Mark       16       forfeited       -       -         5       Ones are Closed       0       1       9       Ones       9       1       4       0       -       8.5       -       -         6       The Rock Bottoms       0       1	<u>n</u>	n	e	1			<u> </u>								-	-
7       Shark Shooters Neighborhood Dart Knights       0       1       7       Dart Knights       7       2       3       0       2       -       7.0       -       -         Neighborhood Dart Knights       0       1       7       Idiots       17       4       3       6       4       -       8.0       -       -         1       Runs with Corks       1       0       16       Corks       16       3       5       2       6       -       7.5       -       -         Nein Mark       1       0       16       Corks       16       3       5       2       6       -       7.5       -       -         3       Rippin Darts       1       0       15       Punk       0       (match       -       -       -         4       We're Sexy & We Throw It       0       0       0       0       Nein Mark       16       forfeited       -       -         5       Ones are Closed       0       1       9       Ones       9       1       4       0       -       8.5       -       -         6       The Rock Bottoms       0       1	isio	-		1					-						-	-
7       Shark Shooters Neighborhood Dart Knights       0       1       7       Dart Knights       7       2       3       0       2       -       7.0       -       -         Neighborhood Dart Knights       0       1       7       Idiots       17       4       3       6       4       -       8.0       -       -         1       Runs with Corks       1       0       16       Corks       16       3       5       2       6       -       7.5       -       -         Nein Mark       1       0       16       Corks       16       3       5       2       6       -       7.5       -       -         3       Rippin Darts       1       0       15       Punk       0       (match       -       -       -         4       We're Sexy & We Throw It       0       0       0       0       Nein Mark       16       forfeited       -       -         5       Ones are Closed       0       1       9       Ones       9       1       4       0       -       8.5       -       -         6       The Rock Bottoms       0       1	Div			1					*****						-	-
7       Shark Shooters Neighborhood Dart Knights       0       1       7       Dart Knights       7       2       3       0       2       -       7.0       -       -         Neighborhood Dart Knights       0       1       7       Idiots       17       4       3       6       4       -       8.0       -       -         1       Runs with Corks       1       0       16       Corks       16       3       5       2       6       -       7.5       -       -         Nein Mark       1       0       16       Corks       16       3       5       2       6       -       7.5       -       -         3       Rippin Darts       1       0       15       Punk       0       (match       -       -       -         4       We're Sexy & We Throw It       0       0       0       0       Nein Mark       16       forfeited       -       -         5       Ones are Closed       0       1       9       Ones       9       1       4       0       -       8.5       -       -         6       The Rock Bottoms       0       1	1	3													- 2 ab+11	-
Neighborhood Dart Knights         0         1         7         Idiots         17         4         3         6         4         -         8.0         -         -           1         Runs with Corks         1         0         16         Corks         16         3         5         2         6         -         7.5         -         -           Nein Mark         1         0         16         Rock Bottoms         8         3         1         4         0         -         10.5         in SCkt only         -           3         Rippin Darts         1         0         15         Punk         0         (match         -	<u>1</u>	7											~~~~~~~~~~	~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	∠ SHOFU!!	-
1       Runs with Corks       1       0       16       Corks       16       3       5       2       6       -       7.5       -       -         Nein Mark       1       0       16       Rock Bottoms       8       3       1       4       0       -       10.5       in SCkt only       -         3       Rippin Darts       1       0       15       Punk       0       (match       -       -         4       We're Sexy & We Throw It       0       0       0       Nein Mark       16       forfeited)       -       -         5       Ones are Closed       0       1       9       Rippin       15       5       2       2       6       -       6.0       -       -         6       The Rock Bottoms       0       1       8       Ones       9       1       4       0       -       8.5       -       -		/													-	-
Nein Mark       1       0       16       Rock Bottoms       8       3       1       4       0       -       10.5       in SCkt only       -         3       Rippin Darts       1       0       15       Punk       0       (match       -       -       -       -         4       We're Sexy & We Throw It       0       0       0       Nein Mark       16       forfeited)       -       -       -         5       Ones are Closed       0       1       9       Rippin       15       5       2       2       6       -       6.0       -       -         6       The Rock Bottoms       0       1       8       Ones       9       1       4       0       -       8.5       -       -		1		1	Ω	16	Corks		3	5		6	_	75	-	_
3       Rippin Darts       1       0       15       Punk       0       (match       -       -         4       We're Sexy & We Throw It       0       0       0       Nein Mark       16       forfeited)       -       -         5       Ones are Closed       0       1       9       Rippin       15       5       2       2       6       -       6.0       -       -         6       The Rock Bottoms       0       1       8       Ones       9       1       4       0       -       8.5       -       -	21	1		1												-
	sion	3		1					5	1			_	10.3	-	
	ivi			0							· · ·		)		-	-
	<u>"</u>								5	2				6.0	_	-
	$\tilde{D}$	~				~ ~						-		-	-	
	,	7		0	1			-	*****	(BY	YE)		-	_	-	-

#### A holdover message I saved from previous seasons...

#### NOTE FROM THE RDL MEMBERSHIP DIRECTOR - REGARDING FACEBOOK MESSENGER REQUESTS

From the Membership Director: "As you all know, in order to add a player, they must be approved and paid for (unless you had a prepaid spot) by Tuesday evening. I will always check email through Tuesday evening for the 5 weeks when folks can add players, however, I am not always on Facebook. If you are wanting to add a player I would NOT recommend using FB Messenger after Sunday night if you want that player to be approved for play the following Wednesday. There are times I am not on FB for days at a time. If you send something Thursday through Sunday I will probably see it in time, but I make no promises about getting on FB Monday or Tuesday night."

"HOT DARTS"											
Player Name	Team Name	Hot Darts	Can't reme	nber what to report	t for the						
			'Hot Darts' list	there? Check out p	oage 4 - 1	the	Cashin, Jeff	One Armed Bandits	5.0	ASPs	
	"A" Division		list of minim	ums is there EVER	RY week		Tufillaro, Lou	Off Constantly-Reb	4.5	ASPs	
(with one match	postponed)						Teegarden, Travis	DD-214	4.0	ASPs	
Bakowski, Adam	Lunatic Fringe	5-Bulls	Chalmers, Alan	Dart Attack	4.0	ASPs	Hindle, Mikey	Cheap Shots	3.5	ASPs	
Badger, Steve	Lunatic Fringe	120-In	Merkle, Patrick	Blindsided	4.0	ASPs	Raper, Jeromie	Red-eye Rangers	3.5	ASPs	
Gibson, Pat	The Bullies	111-In	Palmer, Matt	Iceman's Ear Defen	n 4.0	ASPs		"E" Division			
Horton, Tony	Darty Minds	101-In	Ridgway, Matt	Blindsided	4.0	ASPs	Fortune, Chase	Death Throw		106-In	
Gelberg, Dave	Lunatic Fringe	14-dart 301	Tant, J.J.	Dysfunctional Outla	ε 4.0	ASPs	Emerton, Eric	Y.N.T.A.	11	8-Out	
Mitchell, Sid	Lunatic Fringe	7.5 ASPs		"C" Division			Woodard, Dave	Y.N.T.A.	15-da	rt 301	
Gibson, Pat	The Bullies	7.0 ASPs	Powell, Lee	Show Me Your Tip	os 1	105-In	Samaluk, Somchai	Bad Mutha Duckas	6.0	ASPs	
Butterworth, Jim	Armed & Hammere	6.0 ASPs	Copple, Matthew	Nine Lives	10	8-Out	Finney, Dave	Bad Mutha Duckas	4.5	ASPs	
Mozzetti, Tim	Lunatic Fringe	5.5 ASPs	Velazqez, Jesse	Trippin Bulls	14-da	rt 301	Bosier, Sean	Death Throw	3.5	ASPs	
Badger, Steve	Lunatic Fringe	5.0 ASPs	Robinson, Mike	Darty Sanchez	21-dart	t SCkt	Bradshaw, Tyler	Death Throw	3.0	ASPs	
Bakowski, Adam	Lunatic Fringe	4.5 ASPs	Robinson, Mike	Darty Sanchez		ASPs	Emerton, Eric	Y.N.T.A.	3.0	ASPs	
Horton, Tony	Darty Minds	4.5 ASPs	Powell, Lee	Show Me Your Tip	6.0	ASPs	Rossbach, Mark	Irish Ton	3.0	ASPs	
	"B" Division		Velazqez, Jesse	Trippin Bulls	5.0	ASPs		"F" Division			
Althoff, Paddy	Boom Baby	9m	Goodrich, Brett	Darty Sanchez	4.5	ASPs	Bowen, Andy	Bangin The Wire	4.0	ASPs	
Snyder, Mike	Double In, Uber Out	T80	Copple, Matthew	Nine Lives	4.0	ASPs	Jones, Nick	Village Idiots	4.0	ASPs	
Cannizzaro, Antho	n Why So Serious?	8m	Byrne, Matt	Rif Raf	3.5	ASPs	Blake, Rick	Ton 80 Proof	3.5	ASPs	
Cole, Mike	Why So Serious?	120-In	Knott, Ryan	Shooter McGavin	3.5	ASPs	Port, Brian	Bangin The Wire	3.5	ASPs	
White, Vic	Boom Baby	14-dart 301	Porcelli, Robb	Nine Lives	3.5	ASPs	Swepson, Jerrell	Neighborhood Dart	3.5	ASPs	
Cole, Mike	Why So Serious?	15-dart 301		"D" Division			Dehnel, Sebastian	Ton 80 Proof	3.0	ASPs	
Merkle, Patrick &			Kubel, Nicole	Off Constantly-Reb	poot	9m		"G" Division			
Watson, Jeff, Jr.	Blindsided	20-dart 501	Richardson, Shane	One Armed Bandits	s	9m	( with one match	forfeited)			
Crowe, Jason	Boom Baby	6.0 ASPs	Azevedo, Angelo	Off Constantly-Reb	boot 1	101-In	Fishbeck, Brent	Ones are Closed	3.5	ASPs	
Steppe, Mike	Dysfunctional Outla	5.5 ASPs	Burney, Gary	Cheap Shots	15-da	rt 301	Crabtree, Reagan	The Rock Bottoms	3.0	ASPs	
Althoff, Paddy	Boom Baby	4.5 ASPs	Kirkpatrick, Scott	Red-eye Rangers	15-da	rt 301	Iessi, Austin	Ones are Closed	3.0	ASPs	
Bracco, Michael	Why So Serious?	4.5 ASPs	Richardson, Shane		22-dart		McMillan, Evan	The Rock Bottoms	3.0	ASPs	
Page, Scott	Iceman's Ear Defen	4.5 ASPs	,	One Armed Bandits		ASPs	Raymond, Erik	Rippin Darts	3.0	ASPs	
White, Vic	Boom Baby	4.5 ASPs	Burney, Gary	Cheap Shots	6.0	ASPs	Moody, Chris	Runs with Corks	2.5	ASPs	
			DIVISIONAL	TROPHV DART	CATEC	ODIES					

			DIVISIONAL	L TROPHY DART C	CATEGORIES					
only!!)Lunatic FringeWhy So Serious?Show Me YourOff ConstantlyDeath ThrowShoot-Da-BullHigh Out (301/501/ (1001)(none reported)(none reported)Ton-08 (1/25/23)Ton-18 (1/25/23)53 (1/25/23)(301/501/ (1001)(none reported)(none reported)Matthew Copple Nine Lives(none reported)Frice EmertonJosh Vivod(none reported)1001)14 darts (1/25/23)14 darts (1/25/23)14 darts (1/25/23)15 darts (1/25/23)15 darts (1/25/23)16 darts (1/25/23)SinglesDave Gelberg Lunatic FringeVic White Boom BabyJesse Velazqez Trippin BullsGary Burney Cheap ShotsDave Woodard Y.N.T.A.(none reported)Mike Kelly Mike Kelly301Lunatic FringeBoom RabyTrippin BullsScott Kirkpatrick Red-eye RangersY.N.T.A.None reported)Mike Kelly Mike Kelly5singles(none reported)(none reported)Mike Robinson Darty SanchezShane Richardson Mike Gardner(none reported)(none reported)(none reported)Fast(none reported)(none reported)(none reported)Mike Gardner & Darty Sanchez(none reported)(none reported)(none reported)Doubles(none reported)(none reported)(none reported)Mike Gardner & Darty Sanchez(none reported)(none reported)(none reported)Fast20 darts (1/25/23)20 darts (1/25/23)(none reported)Mike Gardner & Daubles(none reported)(none reported)(none rep										
High In	Ton-20 (1/25/23)	Ton-20 (1/25/23)	Ton-05 (1/25/23)	Ton-01 (1/25/23)	Ton-06 (1/25/23)	96 (1/25/23)				
(301 first turn	Steve Badger	Mike Cole	Lee Powell	Angelo Azevedo	<b>Chase Fortune</b>	Paul Beck	(none reported)			
only!!)	Lunatic Fringe	Why So Serious?	Show Me Your	Off Constantly	Death Throw	Shoot-Da-Bull				
High Out			Ton-08 (1/25/23)		Ton-18 (1/25/23)	53 (1/25/23)				
(301/501/	(none reported)	(none reported)	Matthew Copple	(none reported)	Eric Emerton	Josh Vivod	(none reported)			
1001)			Nine Lives		Y.N.T.A.	Village Idiots				
Fast	14 darts (1/25/23)	14 darts (1/25/23)	14 darts (1/25/23)	15 darts (1/25/23)	15 darts (1/25/23)		18 darts (1/25/23)			
Singles	Dave Gelberg	Vic White	Jesse Velazqez	Gary Burney	Dave Woodard	(none reported)	Mike Kelly			
301	Lunatic Fringe	Boom Baby	Trippin Bulls	Cheap Shots	Y.N.T.A.		Ones are Closed			
				Scott Kirkpatrick						
				Red-eye Rangers						
Fast			21 darts (1/25/23)	22 darts (1/25/23)						
Singles	(none reported)	(none reported)	Mike Robinson	<b>Shane Richardson</b>	(none reported)	(none reported)	(none reported)			
Cricket			Darty Sanchez	One Armed Bandits						
Fast				31 darts (1/25/23)						
Doubles	(none reported)	(none reported)	(none reported)	Mike Gardner	(none reported)	(none reported)	(none reported)			
Cricket				& Deane Morin						
				BullsHit						
Fast		20 darts (1/25/23)				29 darts (1/25/23)				
Doubles	(none reported)	Patrick Merkle &	(none reported)	(none reported)	(none reported)	Bryan Hartley &	(none reported)			
501		Jeff Watson, Jr.				Steven Walker				
		Blindsided				Village Idiots				
Doubles 501 Perfect Throws	(none reported)	Patrick Merkle & Jeff Watson, Jr. Blindsided				Bryan Hartley & Steven Walker	(none report			
<u>9-Marks</u> ddy Althoff (Boo	m Baby, 1/25)	Nicole Kubel (Off C Shane Richardson (	•	,	Ton-80s Mike Snyder (Doub	le In, Uber Out, 1/25	)			

	HOW TO REACH U	S
Email scoresheets:	jdkilts@yahoo.com <u>or</u>	jdkilts@gmail.com
Or text scoresheets:	919-423-5766 - and v	ve also always
recommend	watching for confirmation	tion of receipt!
New Member/Regist	tration Fees:	
Taylor Caldwell	l, (contact her at phone.	/email info below)
Nomination and Ele	ection Ballots:	
Andrew Borgna, 51	11 Brooke Lauren Lan	e, Raleigh, NC 27616
Grievances/Complai	ints/Rules Suggestions	·•
Joel Eason, (c	contact him at phone/en	nail info below)
All Other RDL Corr	<u>espondence to:</u>	
(Just send what	tever to Jason and he'll	pass it along)
<u>2022 Board of Direc</u>	<u>etors</u>	
President	Michael Johnson	
		vraleighdartleague.or
Vice President	Angela Jeffcoat	
_		ffcoat@gmail.com
Secretary	Andrew Borgna	
-	email: akborgna@	•
Treasurer	Taylor Caldwell	
	email: tcaldwell8	
Membership	Heather Bohanan	
De las /Caitanas		valeighdartleague.org
Rules/Grievances		919-227-6966
	email: ajenbk@ya	.1

email: biz.krhoover@gmail.com <u>League Statistician/Editor</u>: Jason Kilts 919-423-5766

email: jdkilts@yahoo.comorjdkilts@gmail.com

#### "HOT DARTS" LISTING GUIDELINES

Here are the guidelines that will be used for the minimum number of all-star points each week for the "hot darts" page. "A" Div. = 4.5 or more ASPs; "B" Div. = 4.0 or more ASPs

"C, D" Divisions = 3.5 or more ASPs

"E, F" Divs. = 3.0 or more ASPs; "G" = 2.5 or more ASPs Also, we will list any fast games, high ins, high outs, or other amazing feats that you think warrant a little recognition (e.g., Ins & Outs higher than a Ton, 24-dart cricket games, 15-dart 301s, 24-dart 501s, Ton-70s and up, 5-Bulls+, etc.).

*Extra note: it's also ok to call in "fast games" in each set, even if they don't necessarily meet the maximum dart counts above.* 

#### SEASON-LONG TROPHY DART MINIMUM GAMES PLAYED REQUIREMENTS

To be eligible for all-star point ave. & singles win %-age awards, you must play at least 66% of this season's projected games: *for Divisions "A", "C", "D", "E" and "G" (except team G2)* 

(7 teams / division):

Singles win %-age:min. of 16 Singles Games PlayedAll-star pt. Average:min. of 32 Total Games Playedfor team G2 (due to 1 forfeit received):

min. of 15 Singles Games Played, 30 Total Games Played

for Divisions "B" and "F" (8 teams / division):

Singles win %-age: min. of 19 Singles Games Played

All-star pt. Average: min. of 37 Total Games Played

# PENALTY LOG

(No penalties yet...)

#### RDL WEBSITE - www.raleighdartleague.org

Webmaster: Matt Ridgway (of Blindsided)

contact him, if needed, at: meridgway84@gmail.com

#### CALENDAR OF EVENTS

<u>  </u>											
Sat., Feb. 11	NC City Dart League & NC Ladies' Cup										
<u>NCC</u>	<u>CDL</u> : Jack@Ral, CapArea@ChHill, Dur@Pied,										
	Pine@LakeN, Wilm@PCity, Boone@Ashe										
<u>NCLO</u>	<u>C</u> : Jack@Apex, CapArea@Fuq-Var, Dur@Pied,										
	Pine@LakeN, Wilm@PCity, Char@Ashe										
Feb. 17-19	Sweetheart Shootout, Greensboro (ADO)										
	(more info once a flyer is available)										
Feb. 24-26	Crystal Coast Shootout, Atlantic Beach (ADO)										
	\$6000; Beach Tavern, 413 W Fort Macon Rc										
	Spring 2023 - 5th week captains' mtg.; Upper										
7:00-8:00 p.m.	Deck; end of roster additions/replacements										
	this is also the night of the RDL Board mtg.										
Sat., Mar. 4	NCCDL/NCLC match weekend										
Mar. 11-12	Blue Ridge Open, Wellford, SC (USSDA)										
	(also the site of an ADO Masters qualifier)										
Mar. 17-19	St. Patrick's Day Tourn., Greensboro (ADO)										
	(more info once a flyer is available										
Mar. 23-26	Virginia Beach Classic, (WDF)										
~	(more info once a flyer is available										
Sat., Apr. 1	NCCDL/NCLC match weekend										
Sat., Apr. 29	NCCDL/NCLC match weekend										
Mon., Apr. 3	RDL Board Meeting										
Apr. 14-16	Charlote Summer Shootout, (ADO?)										
	(more info once a flyer is available)										
Mon., May 1	RDL Board Meeting										
Wed., May 3 /	10 / 17 - Spring 2023 RDL Div. Tournaments										
Sat., May 20	Spring 2023 - Season Banquet, location TBD										
Mon., Jun. 5	RDL Board Meeting										
Sat., Jun. 17	NCCDL/NCLC match weekend										

#### **Other Local Weekly Leagues**

Mondays	Wake Forest Area Dart League, Wake Forest
httj	ps://www.facebook.com/groups/326939964601080/
(don't	think this league is back on yet, but could be soon?
see the H	RDL Facebook page for a recent post about this one)
Tuesdays	Bull City Dart League , Durham
	http://www.thebcdl.org/
Thursdays	Triangle Dart League, Chapel Hill
	1 // 11 11 / 1 / 11 / 11 /

https://www.ibiblio.org/ncdarts/tdl/

<u>Weekly Blind Draws</u> - Over the years, many blind draws have come and gone. If any of these folds or if any others start up, please let me know and I'll update this list. Thanks. (this one is double elim., \$5 entry, bar matches the pot...

extra \$50 if there are 32+ players, plus a triple shot !)
Fri., 8 pm Upper Deck, 919-460-1786, 329 N.Harrison (this one is \$5 entry, double elim., 16 player cap for now)
Sun., 4 pm Backstage Pub, 919-859-5411, 401 Ashville Ave (this one is \$5 entry, bar matches 150% if 16+ players !)
Sun., 6 pm Sharky's Place, 919-783-5448, 5800 Duraleigh (this one is double elm., \$5 entry, bar matches the pot!)
Mon., 7:30 pm Neighborhood, 919-377-2344, 301 N. Harrison (this one is \$5 entry, bar matches up to \$100, plus an alternating double/triple shot !) 2201 South Main Street, Mon., 7 pm Mackey's Pub, 919-435-6018, Wake Forest

THIS WEEK'S MATCHES (Week 2)		NEXT WEEK'S MATCHES (Week 3)						
Consist. Inconsistent @ The Global Element (Upper Deck 13&)	5)	The Global Element	a	Darty Minds (Cleveland DH - Garner)				
The Bullies @ Armed & Hammered (Neighborhood 1&	2) <b>"A"</b>	The Bullies	(a)	Consist. Inconsistent (Upper Deck 17&18)				
Lunatic Fringe @ Darty Minds (Cleveland DH - Garn	r) <b>Div.</b>	Liver Alliance	(a)	Armed & Hammered (Neighborhood 1&2)				
BYE - Liver Alliance		BYE - Lunatic Fringe						
Why So Serious? @ Put It on Matt's Tab (Pickled Onion #2 48	5)	Dysfunc. Outlaws	@	Put It on Matt's Tab (Pickled Onion #2 4&5)				
Blindsided @ Boom Baby (The Pickled Pu	) <b>"B"</b>	Boom Baby	(a)	Dart Attack (The Pickled Pub)				
Dart Attack @ Double In, Uber Out (Pickled Onion #2 28	3) <b>Div.</b>	Why So Serious?	(a)	Double In, Uber Out (Pickled Onion #2 2&3)				
Dysfunc. Outlaws @ Iceman's Ear Defenders (Upper Deck 38	ł)	Blindsided	a	Iceman's Ear Defenders (Upper Deck 3&4)				
Darty Sanchez @ Double In Stumble Out (Mac's Tavern 18	2)	DoubleIn Stumble Out	a	Nine Lives (High Park 5&6)				
Rif Raf @ Shooter McGavin (Brewster's Pub 1&	2) "C"	Show Me Your Tips	@	Shooter McGavin (Brewster's Pub 1&2)				
Trippin Bulls @ Show Me Your Tips (High Park 18	2) <b>Div.</b>	Rif Raf	(a)	Trippin Bulls (Upper Deck 5&6)				
BYE - Nine Lives		BYE - D	Sanchez					
Off Constantly-Reboot @ Red-eye Rangers (Sharky's Place 1&	2)	Cheap Shots	a	Off Constantly-Reboot (Break Time)				
Cheap Shots @ DD-214 (Amer. Legion F-	" <b>D</b> "	DD-214	@	Menace 2 Sobriety (High Park 1&2)				
Menace 2 Sobriety @ One Armed Bandits (Lonerider Five Poin	s) <b>Div.</b>	Red-eye Rangers	@	BullsHit (Good Times Arcade)				
BYE - BullsHit		BYE - One Armed Bandits						
That's What She Said @ Hump Day! (Mackey's Pub 3&	ł)	Hump Day!	a	Irish Ton (Sharky's Place 3&4)				
Sharky's Machine @ Bad Mutha Duckas (Snooker's-R'	" <b>E</b> "	Death Throw	(a)	Sharky's Machine (Sharky's Place 5&6)				
Y.N.T.A. @ Death Throw (Hot Sho	s) <b>Div.</b>	Y.N.T.A.	@	That's What She Said (Sharky's Place 1&2)				
BYE - Irish Ton		BYE - Bad	Mu	itha Duckas				
Sofa Kings @ Shark Shooters (Sharky's Place 58	5)	Shark Shooters	(a)	Dart Side of the Moon (Brewster's Pub 3&4)				
Bangin The Wire @ Ton 80 Proof (High Park 38	•) <b>"F"</b>	Village Idiots	@	Ton 80 Proof (High Park 3&4)				
Dart Side of the Moon @ Neighbor.Dart Knights (Neighborhood 3&	) <b>Div.</b>	Bangin The Wire	(a)	Sofa Kings (Mac's Tavern 1&2)				
Village Idiots @ Shoot-Da-Bull (Mac's Tavern 38	ł)	Neighbor.Dart Knights	a	Shoot-Da-Bull (Mac's Tavern 3&4)				
Ones Are Closed @ Runs with Corks (Upper Deck 17&)	3)	Nein Mark	(a)	We're Sexy / Throw It! (Amer. Legion F-V)				
We're Sexy / Throw It! @ Rippin Darts (Pantana's Pool 18	2) <b>"G"</b>	Punk in Drublic	(a)	Rippin Darts (Pantana's Pool 1&2)				
The Rock Bottoms @ Punk in Drublic (Pantana's Pool 3&	) <b>Div.</b>	Div. Ones Are Closed @ The Rock Bottoms (Panta						
BYE - Nein Mark		BYE - Ru	ıns v	with Corks				

#### PREDICTIONS FOR THE WEEK

As with most recent seasons, the amount of stuff that goes into the week 1 newsletter prevents me from having enough space to include both the season-long and the weekly picks. But I still do them both, and then report the week 1 results to you guys here, so that we have a full season of picks. And I very nearly had a great first week... With one match result still to come, I posted a 14-7 record in week 1, with THREE of my seven losses coming in 1001. Dang, so close. I'm also 0.500 or better in all divisions except D so far, so I have my eye on you, D teams... Might not have any idea what you'll do, but my eye is still on you! == Two 1-0 teams ==

**Match of the week**: (C Div.) Trippin Bulls @ Show Me Your Tips. Wow, only TWO matches of 1-0 teams this week! And this first one is a doozy. Both Trippin and Show Me took out what I think will be high end opponents in week 1, so somebody is about to grab a huge 2-0 start in a race that could get pretty messy. I could see this going either way, but I have a pretty good feeling about Show Me right now, 14-10. **Match #2**: (B Div.) Blindsided @ Boom Baby. Both of these teams used doubles comebacks after trailing coming out of singles in week 1 to join Serious in the 1-0 group. Boom was able to get by a pretty tough Outlaws squad and I'm thinking things could go pretty well for them this season, so I'm taking Boom here. It won't be easy, but it's Boom, 14-10.  $== Two \ 0-1 Teams ==$ 

Match #3: (E Div.) Y.N.T.A. @ Death Throw. There are also only two matches this week that contain two teams that lost a match last week! And this pair likely thinks they coulda/shoulda won theirs (and I imagine Death Throw is still wondering how the heck they lost with the lead they had). Still feels like a pretty good season could be had by DT though, and they'll figure out how to win a late-match game here. DTs, 15-9. Match #4: (B Div.) Dysfunctional Outlaws @ Iceman's Ear Defenders. Iceman's presently sits in last after their first match in the RDL, but that loss came at the hands of what I think is the B favorite, and they actually showed out pretty well for themselves. I guess I will go Outlaws (until the full Iceman's lineup all attends at least) in this critical early pair, 14-10.

== A 1-0 Team Against A Team Yet To Play A Match ==

Match #5: (E Div.) Sharky's Machine @ Bud Mutha Duckas. The Machine hasn't played yet, and they should be at least a solid E squad, but I think the new-look Ducks are the real deal here. Feels like it could be a while before I'm not feeling the Ducks picks. 15-9. Match #6: (G Div.) We're Sexy & We Throw It! @ Rippin Darts. I admit that I was expecting a stronger start for my G pick (Rippin), with them losing both cricket sets last week. But a win is a win, and they do sit within a point of the G lead. We Throw It is making their 2023 debut, and this should be interesting, but I'll take Rippin, 16-8. Match #7: (D Div.) Menace 2 Sobriety @ One Armed Bandits. The Bandits overcame their own DCkt nap to grab a critical win in wk01 over what might well have been one of their top competitors this spring. That bodes pretty well, so I'll stick with the Bandits, 14-10.

== Well, ok, one more that is technically two 0-1 Teams == **Match #8**: (G Div.) The Rock Bottoms @ Punk in Drublic. With the Rock Bottoms making the preseason meeting (for the first time ever) and Punk dropping a sad forfeit in week 1, it's Punk alone in the cellar so far. I think they jump back in it a bit here. Punk, 15-9. == And the odd match with TWO(!) 0-0 teams ==

**Match #9**: (A Div.) Consist. Inconsistent @ The Global Element. With a bye and a postponement, I think this might be the first week 2 match I've ever picked that had BOTH teams with zero matches so far. I have to go with my own guys, of course, so it's Element, 18-6.

- And the remaining 14 matches, sorted by division:
- A Division: The Bullies 19, Armed 5; Fringe 18, Darty Minds 6.
- B Division: Serious? 14, Matt's Tab 10; Dart Attack 13, Uber Out 11.
- C Division: Stumble Out 14, Sanchez 10; Rif Raf 13, McGavin 11.
- D Division: Off Constantly 15, Rangers 9; Cheapies 15, DD-214 9.
- E Division: Hump Day! 15, That's What She Said 9.
- F Division: Sofa Kings 14, Shark Shooters 10; Bangin the Wire 13, Ton 80 Proof 11; Dart Side of the Moon 14, Neighborhood Dart Knights 10; Village Idiots 15, Shoot-Da-Bull 9.
- G Division: Runs with Corks 13, Ones Are Closed 11.

# A BIG PAGE OF SEASONAL REMINDERS THAT YOU MIGHT WANT TO KEEP WITH YOU...

#### OUR SCORESHEET RETURN DEADLINE SINCE 2017!!

The weekly deadline for submission of your scoresheets is no longer on Saturday. **The new deadline is 11:59 p.m. Friday** (unless you had a rescheduled match - then it's within 2 days of the day you played).

#### TIEBREAKER = MATCH WIN, NOT POINT

Don't forget that the tiebreaker game (1001) does not score a team point. Matches decided in 1001 should be recorded as 12-12 (or 11-11, or whatever your tie is), with one team winning & one losing.

#### TIE SCORE? INDICATE WINNER

Also don't forget that if your match goes to 1001 you need to indicate the winning team in some fashion (circle, "+" sign, etc.).

#### TEAM NAMES ON YOUR SCORESHEETS

Every season there are several instances of teams listing the team names on opposite sides of the scoresheets (meaning that one team's name is written above the other team's players). Obviously, I will eventually figure these out when the names under a team name aren't on the roster, but it would be cool if you simply indicate the error in some way (or simply flip the names - I would rather an away team be on the home side and vice versa than have the wrong people AND THUS BACKWARDS FINAL SCORE under each side). Thanks.

#### LOSING TEAM'S SCORESHEET RESPONSIBILITIES

Just a quick note to the new captains: you are NOT responsible for sending in the scoresheet if you lose the match. I DO, however, recommend that you save your copy in case the other team loses theirs - that way, I can still get yours and update the statistics. Oh, and... <u>CHECK THE OTHER TEAM'S SHEET FOR ACCURACY!!!</u>

# **DOUBLE-CHECK PLAYER NAMES**

Please double-check the spelling of the name of each player on your team in the lists on page 10. If anybody's name needs to be corrected, shoot me an email or leave a message on the VoiceMail.

#### **KEEP YOUR INFO CURRENT**

Captains, please do not forget that if you change your phone number, I can't reach you, and other captains (who might be forfeiting!) can't reach you. Keep me updated. Thanks.

# NOTE ON EMAILED TONS SIGNUPS

If you would like the Tons emailed to you, it's pretty simple. Just email me directly (see page 4) and let me know that you want to be added to the list. I do ask, however, that you also tell me who you are when you email me (as email addresses often are pretty anonymous). I use GMail (and Yahoo) address books, and they are sort of based on last names, and I have far too many people to put in one address book. Having both names helps me track who is in which address book so that I can add and delete people easily when they request it. There is a solution of the term of term of term of the term of term o

# when they request it. Thanks. JK

# EXTRA NOTE ON EMAILED TONS SIGNUPS

If you are already on the mailing list, there is no need to sign up for the Tons again. And again. And again...

Also, if your address bounces my email three weeks in a row, I will indeed remove you from the list. Just for list maintenance...

#### WHAT SCOREKEEPERS CAN SAY DURING CRICKET

It is now official RDL policy that **during cricket**, **the scorekeeper may only tell the thrower how many of each number has been hit during this turn**, and may not report any more of the situation (whether a number is now closed, new point total, points still needed, etc.).

# CAPTAINS PLEASE READ THIS

What follows here is a list of very important reminders for all of you. I have provided the greatly shortened versions of each of these reminders, so that you can read the entire list quickly.

- Indicate who the 'blocker' players are. Simply writing 'blocker' is <u>NOT sufficient</u>. If you don't, then BOTH teams will receive a penalty! Yes, both... And you may NOT pick the same player to fill both blocker slots in a section with a team short 2 players.
- 2. Indicate which players of <u>both</u> teams took part in 1001 games on the front of the scoresheet. This is <u>MANDATORY</u>, and allows us to check for ineligible players, record statistics, etc.
- 3. Don't forget to make extra copies of your scoresheet blanks.
- 4. Save a copy of each of your completed scoresheets.
- 5. The guidelines for Hot Darts to report (in terms of fast games and such) are on page 4 of every issue of the Tons of Newsletter.
- 6. While the scoresheet no longer has the bar ratings scoreboard, it does still have a box for comments. Those comments are indeed passed on to the Board every few weeks, so by all means point out things that you think need to be changed.
- 7. If you know beforehand that your team will be forfeiting, be a nice guy and call the other team <u>and host establishment</u> in advance.
- 8. NEVER play a player that has not received approval from both the Memb. Director (Heather Bohanan) & Treasurer (Taylor Caldwell). This includes getting approval even if simply using a player slot for which you've already paid.
- 9. If a player didn't play in any of the four primary sections of the match, that player is ineligible to play in 1001.
- 10. Wednesday player additions and/or changes are not allowed. Those must all be completed no later than Tuesday of each week.

#### MANY SCORESHEET RETURN PATHS AVAILABLE

We have three routes remaining for turning in your scoresheets... First, you can use your scanner (or your phone in some cases) and email me an image of the sheet (my email addresses are in the Tons every week and also on the back of the scoresheet).

Second, you can shoot me photos of your scoresheet if you want to take care of returning it immediately! Just make sure you have good lighting, you're close enough to the sheet, and it's IN FOCUS. (note: out-of-focus or overly dark photos will not be acceptable... duh). And you can send those photos by email or text (as with my email addresses, my phone number is on the scoresheet back).

Finally, you can still use the old school U.S. Postal Service. My address is also on the back of the scoresheet, but I caution you... I predict that this system will go away before too long (as I haven't received one via this route for a couple years now... plus the duration of a pandemic!).

[Quick note if you do actually decide to send me a hard copy via the snail mail side of things. Buying a (\$1.50-ish?) certificate of mailing could prove to be a nice piece of evidence if your scoresheet ever gets lost in the mail. Do NOT send your scoresheet by certified mail - I do NOT want to have to go to the post office repeatedly (or at all, to be honest) to sign for your scoresheets.]

If you use any of the modern electronic methods, I'll even email or text you a quick confirmation of receipt (since I'll have your email address or phone number, of course) - thus eliminating any worry about whether the sheet got through to me :0).

#### NO CALL-IN REQUIREMENT FOR MATCH RESULTS

Since the Fall 2017 season, winning teams are no longer required to call in match results each week. And actually, the league is now at the point where we have simply discontinued the VoiceMail number. Not enough use of it to warrant the cost any longer.

# SPRING 2023 RDL SCHEDULES FOR ALL DIVISIONS

The schedules for all divisions, on this page and the next, were provided by Membership Director Heather Bohanan. Also included on page 9 are the contact numbers for all the captains and their bars. That way, any of you who need to contact a captain of another team for whatever reason (rescheduling, fun matches, emergency changes in home establishments, etc.) will know who to call and how.

	VISION	A1	A2	A3	A4	A5	A6	A7	
		The Global	The	Liver	Lunatic	Armed &	Consistently	Darty	
		Element	Bullies	Alliance	Fringe	Hammered	Inconsistent	Minds	
-	ng 2023	Upper Deck	Upper Deck	Sharky's	Upper Deck	Neighbor-	Upper Deck	Cleveland	
Week:	Date:	13+15	9+11	Place 3+4	13+15	hood 1+2	17+18	DH Garner	
	1/25/2023	(Bye)	A7	AT A6	A5	AT A4	A3	AT A2	
2	2/1/2023	A6	AT A5	(Bye)	AT A7	A2	AT A1	A4	
3	2/8/2023	AT A7	AT A6	AT A5	(Bye)	A3	A2	A1	
	2/15/2023 2/22/2023	A5	(Bye)	A7 A2	AT A6	AT A1	A4 AT A5	AT A3	
5 6	3/1/2023	AT A4 A3	AT A3 A4	AZ AT A1	A1 AT A2	A6 AT A7		(Bye) A5	
6				AT AT			(Bye)	AD AT A6	
	3/8/2023	AT A2	A1		A3	(Bye)	A7		
	3/15/2023	(Bye)	AT A7	A6	AT A5	A4	AT A3	A2	
	3/22/2023	AT A6	A5	(Bye)	A7	AT A2	A1	AT A4	
	3/29/2023	A7	A6	A5	(Bye)	AT A3	AT A2	AT A1	
11	4/5/2023	AT A5	(Bye)	AT A7	A6	A1	AT A4	A3	
	4/12/2023	A4	A3	AT A2	AT A1	AT A6	A5	(Bye)	
	4/19/2023	AT A3	AT A4	A1	A2	A7	(Bye)	AT A5	
14	4/26/2023	A2	AT A1	A4	AT A3	(Bye)	AT A7	A6	
יים ם	VISION	B1	B2	B3	B4	B5	B6	B7	B8
ВЛ	VISION	Put It on	Boom	Why So	Blindsided	Double In,	Do Dysfunctional	Dart	во Iceman's Ear
		Matt's Tab	Baby	Serious?	Billusided	Uber Out	Outlaws	Attack	Defenders
Sprir	ng 2023	Pickled	The Pickled	Mackey's	Upper Deck	Pickled	Overtime	The Pickled	Upper Deck
Week:	Date:	Onion #2 4+5	Pub	Pub 1+2	1+2	Onion #2 2+3		Pub	3+4
	1/25/2023	AT B7	AT B6	B8	B5	AT B4	B2	B1	AT B3
2	2/1/2023	B3	B4	AT B1	AT B2	B7	AT B8	AT B5	B6
3	2/8/2023	B6	AT B7	AT B5	AT B8	B3	AT B1	B2	B0 B4
	2/15/2023	AT B4	B8	B7	B1	AT B6	B5	AT B3	AT B2
	2/22/2023	B8	AT B5	AT B6	AT B7	B2	B3	B4	AT B1
6	3/1/2023	B5	B3	AT B2	B6	AT B1	AT B4	AT B8	B7
7	3/8/2023	AT B2	B1	B4	AT B3	B8	B7	AT B6	AT B5
8	3/15/2023	B7	B6	AT B8	AT B5	B4	AT B2	AT B1	B3
9	3/22/2023	AT B3	AT B4	B1	B2	AT B7	B8	B5	AT B6
10	3/29/2023	AT B6	B7	B5	B8	AT B3	B1	AT B2	AT B4
11	4/5/2023	B4	AT B8	AT B7	AT B1	B6	AT B5	B3	B2
	4/12/2023	AT B8	B5	B6	B7	AT B2	AT B3	AT B4	B1
	4/19/2023	AT B5	AT B3	B2	AT B6	B1	B4	B8	AT B7
14	4/26/2023	B2	AT B1	AT B4	B3	AT B8	AT B7	B6	B5
		64	00	C3	<u> </u>	05	00	07	
CDI	VISION	C1 Double In	C2	Show Me	C4	C5	C6	C7	
		Stumble Out	Shooter McGavin	Your Tips	Nine Lives	Trippin Bulls	Rif Raf	Darty Sanchez	
Sorir	ng 2023	Mac's	Brewster's	High Park	High Park	Upper Deck	Pickled	Lonerider at	
Week:	Date:	Tavern 1+2	Pub 1+2	1+2	5+6	5+6	Onion #2 4+5	Five Points	
	1/25/2023	(Bye)	AT C7	AT C6	AT C5	C4	C3	C2	
2	2/1/2023	C7	C6	C5	(Bye)	AT C3	AT C2	AT C1	
3	2/8/2023	AT C4	C3	AT C2	C1	C6	AT C5	(Bye)	
	2/15/2023	C2	AT C1	C4	AT C3	C7	(Bye)	AT C5	
	2/22/2023	C6	C5	(Bye)	C7	AT C2	AT C1	AT C4	
6	3/1/2023	AT C3	AT C4	C1	C2	(Bye)	AT C7	<u>C6</u>	
7	3/8/2023	C5	(Bye)	C7	AT C6	AT C1	C4	AT C3	
	3/15/2023	(Bye)	C7	C6	C5	AT C4	AT C3	AT C2	
	3/22/2023	AT C7	AT C6	AT C5	(Bye)	C3	C2	C1	
	3/29/2023	C4	AT C3	C2	AT C1	AT C6	C5	(Bye)	ļ]
44	4/5/2023	AT C2	C1	AT C4	C3	AT C7	(Bye)	C5	
11		AT 00					1.1		
12	4/12/2023	AT C6	AT C5	(Bye)	AT C7	C2	C1	C4	
12 13		AT C6 C3 AT C5	C4 (Bye)	(Bye) AT C1 AT C7	AT C7 AT C2 C6	(Bye) C1	C7 AT C4	AT C6 C3	

D DIVISION									
D DIVISION		D1	D2	D3	D4	D5	D6	D7	
		Off Constantly	DD-214	One Armed	BullsHit	Cheap	Red-eye	Menace 2	
<b>C</b>	~~ 2022	Reboot	American	Bandits	Good Times	Shots	Rangers	Sobriety	
	ng 2023	Break Time	American Legion - FV	Lonerider at		High Park	Sharky's Place 1+2	High Park	
Week:	Date: 1/25/2023	Billiards D2	AT D1	Five Points AT D4	Arcade D3	3+4 D6	AT D5	<b>1+2</b> (Bye)	
2	2/1/2023	AT D6	D5	D7	(Bye)	AT D2	D1	AT D3	
3	2/1/2023	D5	AT D7	(Bye)	D6	AT D2 AT D1	AT D4	D2	
4	2/15/2023	(Bye)	D4	D6	AT D2	D7	AT D4 AT D3	AT D5	
5	2/22/2023	AT D7	AT D3	D0	AT D2	D4	(Bye)	D1	
6	3/1/2023	D3	D6	AT D1	D7	(Bye)	AT D2	AT D4	
7	3/8/2023	AT D4	(Bye)	D5	D1	AT D3	D7	AT D6	
8	3/15/2023	AT D2	D1	D4	AT D3	AT D6	D5	(Bye)	
9	3/22/2023	D6	AT D5	AT D7	(Bye)	D2	AT D1	D3	
10	3/29/2023	AT D5	D7	(Bye)	AT D6	D1	D4	AT D2	
11	4/5/2023	(Bye)	AT D4	AT D6	D2	AT D7	D3	D5	
12	4/12/2023	D7	D3	AT D2	D5	AT D4	(Bye)	AT D1	
13	4/19/2023	AT D3	AT D6	D1	AT D7	(Bye)	D2	D4	
14	4/26/2023	D4	(Bye)	AT D5	AT D1	D3	AT D7	D6	
E DI	IVISION	E1	E2	E3	E4	E5	E6	E7	[]
		Hump	Bad Mutha	Irish	Sharky's	That's What	Death	Y.N.T.A	
		Day!	Duckas	Ton	Machine	She Said	Throw		
Spri	ng 2023	Mackey's	Snooker's -	Sharky's	Sharky's	Sharky's	Hot	Brewster's	
Week:	Date:	Pub 3+4	Ridgewood	Place 3+4	Place 5+6	Place 1+2	Shots	Pub 1+2	
1	1/25/2023	AT E7	AT E5	E6	(Bye)	E2	AT E3	E1	
2	2/1/2023	E5	E4	(Bye)	AT E2	AT E1	E7	AT E6	
3	2/8/2023	AT E3	(Bye)	E1	E6	E7	AT E4	AT E5	
4	2/15/2023	E2	AT E1			E4	(Bye)	E3	
5	2/22/2023	(Bye)	E3	AT E2	E7	AT E6	E5	AT E4	
6	3/1/2023	E6	AT E7	E4	AT E3	(Bye)	AT E1	E2	
7	3/8/2023	AT E4	E6	E5	E1	AT E3	AT E2	(Bye)	
8	3/15/2023	E7	E5	AT E6	(Bye)	AT E2	E3	AT E1	
9	3/22/2023	AT E5	AT E4	(Bye)	E2	E1	AT E7	E6	
10	3/29/2023	E3	(Bye)	AT E1	AT E6	AT E7	E4	E5	
11	4/5/2023	AT E2	E1	E7	E5	AT E4	(Bye)	AT E3	
12	4/12/2023	(Bye)	AT E3	E2	AT E7	E6	AT E5	E4	
13	4/19/2023	AT E6	E7	AT E4	E3	(Bye)	E1	AT E2	
14	4/26/2023	E4	AT E6	AT E5	AT E1	E3	E2	(Bye)	
F DI	IVISION	F1	F2	F3	F4	F5	F6	F7	F8
		Shark	Ton 80	Dart Side	Bangin	Neighborhood	Sofa	Village	Shoot-
		Shooters	Proof	of the Moon	The Wire	Dart Knights	Kings	Idiots	Da-Bull
	ng 2023	Sharky's	High Park	Brewster's	Pantana's	Neighbor-	Mac's	High Park	Mac's
Week:	Date:	Place 5+6	3+4	Pub 3+4	Pool Hall 1+2		Tavern 1+2	5+6	Tavern 3+4
1	1/25/2023	AT F4	AT F6	F8	F1	AT F7	F2	F5	AT F3
2	2/1/2023	F6	F4	AT F5	AT F2	F3	AT F1	AT F8	F7
3	2/8/2023	AT F3	F7	F1	AT F6	AT F8	F4	AT F2	F5
4	2/15/2023	F2	AT F1	AT F7	F8	F6	AT F5	F3	AT F4
5	2/22/2023	AT F5	AT F8	F6	F7	F1	AT F3	AT F4	F2
6	3/1/2023	F8	F5	F4	AT F3	AT F2	F7	AT F6	AT F1
7	3/8/2023	AT F7	F3	AT F2	AT F5	F4	AT F8	F1	F6
8	3/15/2023	F4	F6	AT F8	AT F1	F7	AT F2	AT F5	F3
9	3/22/2023	AT F6	AT F4	F5	F2	AT F3	F1	F8	AT F7
10	3/29/2023	F3	AT F7	AT F1	F6	F8	AT F4	F2	AT F5
11	4/5/2023	AT F2	F1	F7	AT F8	AT F6	F5	AT F3	F4
12	4/12/2023	F5	F8	AT F6	AT F7	AT F1	F3	F4	AT F2
13	4/19/2023	AT F8	AT F5	AT F4	F3	F2	AT F7	F6	F1
14	4/26/2023	F7	AT F3	F2	F5	AT F4	F8	AT F1	AT F6

G D	IVISION	G1	G2	G3	G4	G5	G6	G7	
		Runs with	Nein	Rippin	Punk in	Ones Are	We're Sexy &	The Rock	
		Corks	Mark	Darts	Drublic	Closed	We Throw It	Bottoms	
Spri	ing 2023	Upper Deck	Upper Deck	Pantana's	Pantana's	Pickled	American	Pantana's	
Week:	Date:	17+18	3+4	Pool Hall 1+2	Pool Hall 3+4	Onion #2 2+3	Legion - FV	Pool Hall 3+4	
1	1/25/2023	AT G7	G4	AT G5	AT G2	G3	(Bye)	G1	
2	2/1/2023	G5	(Bye)	G6	G7	AT G1	AT G3	AT G4	
3	2/8/2023	(Bye)	AT G6	G4	AT G3	AT G7	G2	G5	
4	2/15/2023	AT G4	G7	(Bye)	G1	G6	AT G5	AT G2	
5	2/22/2023	G3	G5	AT G1	(Bye)	AT G2	G7	AT G6	
6	3/1/2023	G6	AT G3	G2	AT G5	G4	AT G1	(Bye)	
7	3/8/2023	AT G2	G1	G7	G6	(Bye)	AT G4	AT G3	
8	3/15/2023	G7	AT G4	G5	G2	AT G3	(Bye)	AT G1	
9	3/22/2023	AT G5	(Bye)	AT G6	AT G7	G1	G3	G4	
10	3/29/2023	(Bye)	G6	AT G4	G3	G7	AT G2	AT G5	
11	4/5/2023	G4	AT G7	(Bye)	AT G1	AT G6	G5	G2	
12	4/12/2023	AT G3	AT G5	G1	(Bye)	G2	AT G7	G6	
13	4/19/2023	AT G6	G3	AT G2	G5	AT G4	G1	(Bye)	
14	4/26/2023	G2	AT G1	AT G7	AT G6	(Bye)	G4	G3	

# SPRING 2023 RDL CAPTAIN AND HOST ESTABLISHMENT PHONE NUMBERS

TEAM # A	A1	A2	A3	A4	A5	A6	A7	
TEAM	The Global	The	Liver	Lunatic	Armed &	Consistently	Darty	
NAME	Element	Bullies	Alliance	Fringe	Hammered	Inconsistent	Minds	
CAPTAIN	Jason	Dean	Charles	Joel	Mike	Joe	Eugene	
	Kilts	Cusher	Parker	Eason	O'Toole	Bass	Foushee	
PHONE	919-423-5766	919-422-3431	843-452-7745	919-227-6966	919-270-3520	919-604-1002	919-422-3512	
BAR	Upper Deck	Upper Deck	Sharky's	Upper Deck	Neighbor-	Upper Deck	Cleveland	
BOARDS	13+15	9+11	Place 3+4	13+15	hood 1+2	17+18	DH Garner	
BAR PHONE	919-460-1786	919-460-1786	919-783-5448	919-460-1786	919-377-2344	919-460-1786	919-771-2337	
TEAM # B	B1	B2	B3	B4	B5	B6	B7	B8
TEAM	Put It on	Boom	Why So	Blindsided	Double In,	Dysfunctional	Dart	Iceman's Ear
NAME	Matt's Tab	Baby	Serious?		Uber Out	Outlaws	Attack	Defenders
CAPTAIN	Charles	Jason	Anthony	Matt	Mike	Mike	Jamie	Bill
DUONE	Tompkins	Zelinack	Cannizzaro	Ridgway	Snyder	Steppe	Stoy	Jespersen
PHONE	919-691-3781	919-805-0866	919-452-0078	410-818-7744	919-614-3264	919-427-9392	919-805-1346	919-914-2333
BAR BOARDS	Pickled Onion #2 4+5	The Pickled Pub	Mackey's Pub 1+2	Upper Deck 1+2	Pickled Onion #2 2+3	Overtime Sports Pub	The Pickled Pub	Upper Deck 3+4
BAR PHONE	919-977-0031	984-235-4482	919-435-6018	919-460-1786	919-977-0031	919-255-9556	984-235-4482	919-460-1786
TEAM # C	919-977-0031 C1	904-239-4402 C2	C3	C4	C5	C6	904-239-4402 C7	515-400-1700
TEAM # C	Double In	C2 Shooter	C3 Show Me	C4 Nine	Trippin	Rif	Darty	
NAME	Stumble Out	McGavin	Your Tips	Lives	Bulls	Raf	Sanchez	
	Paul	Ryan	Rich	David	Kim	Paddy	Mike	
	Beaudoin	Knott	Bialaszewski	Romanchek	Hoover	Diamond	Trefzger	
PHONE	919-422-1542	919-400-9090	650-218-2223	919-673-4102	260-413-6173	919-608-2585	919-946-1638	
BAR	Mac's	Brewster's	High Park	High Park	Upper Deck	Pickled	Lonerider at	
BOARDS	Tavern 1+2	Pub 1+2	1+2	5+6	5+6	Onion #2 4+5	Five Points	
BAR PHONE	919-467-4114	919-650-1270	919-833-4527	919-833-4527	919-460-1786	919-977-0031	919-322-2434	
TEAM # D	D1	D2	D3	D4	D5	D6	D7	
TEAM	Off Constantly	DD-214	One Armed	BullsHit	Cheap	Red-eye	Menace 2	
NAME	Reboot		Bandits		Shots	Rangers	Sobriety	
CAPTAIN	Mike	Tommy	Lyman	Gary	Dave	Joe	J.J.	
	Roberts	Beaird	Kiser	Long	Buckman	Kunesh	White	
PHONE	919-524-5731	919-610-3607	919-418-8174	919-441-2774	919-795-3820	919-637-4983	919-218-6792	
BAR	Break Time	American	Lonerider at	Good Times	High Park	Sharky's	High Park	
BOARDS	Billiards	Legion - FV	Five Points	Arcade	3+4	Place 1+2	1+2	
BAR PHONE	919-615-0107	919-557-5990	919-322-2434	919-307-3245	919-833-4527	919-783-5448	919-833-4527	
TEAM # E	E1	E2	E3	E4	E5	E6	E7	
TEAM NAME	Hump	Bad Mutha	lrish Ton	Sharky's	That's What	Death	Y.N.T.A	
	Day! Randy	Duckas Bob	Ton Jeremy	Machine Jimmy	She Said Taylor	Throw Tolson	Kevin	
CAFTAIN	Deemer	Kuppler	Cominole	Bateman	Caldwell	Willis	Turner	
PHONE	919-819-1759	609-947-1472	919-696-1020	919-576-4288	919-623-9920	919-606-3670	516-698-0040	
BAR	Mackey's	Snooker's -	Sharky's	Sharky's	Sharky's	Hot	Brewster's	
BOARDS	Pub 3+4	Ridgewood	Place 3+4	Place 5+6	Place 1+2	Shots	Pub 1+2	
BAR PHONE	919-435-6018	919-828-7665	919-783-5448	919-783-5448	919-783-5448	919-460-6307	919-650-1270	
TEAM # F	F1	F2	F3	F4	F5	F6	F7	F8
TEAM	Shark	Ton 80	Dart Side	Bangin	Neighborhood	Sofa	Village	Shoot-
NAME	Shooters	Proof	of the Moon	The Wire	Dart Knights	Kings	Idiots	Da-Bull
CAPTAIN	Michelle	Ken	Blaine	Kelsey	Jared	Roger	Barron	Barry
	Stacy	Theall	Cornell	Williams	Markam	Keim	Hartley	Thompson
PHONE	919-985-4799	919-244-7856	828-964-6635	336-202-6248	919-987-4889	919-219-3442	919-749-2061	919-369-1369
BAR	Sharky's	High Park	Brewster's	Pantana's	Neighbor-	Mac's	High Park	Mac's
BOARDS	Place 5+6	3+4	Pub 3+4	Pool Hall 1+2	hood 3+4	Tavern 1+2	5+6	Tavern 3+4
BAR PHONE	919-783-5448	919-833-4527	919-650-1270	919-833-2990	919-377-2344	919-467-4114	919-833-4527	919-467-4114
TEAM # G	G1 Bung with	G2	G3 Binnin	G4	G5	G6	G7	
	Runs with	Nein Mark	Rippin	Punk in	Ones Are	We're Sexy &	The Rock	
NAME CAPTAIN	Corks Michael	Mark Gerald	Darts Erik	Drublic Wes	Closed Brent	We Throw It Ken	Bottoms Lauren	
	Fleener	Updyke	Raymond	Wes Wissinger	Fishbeck	McNamara	Smith	
PHONE	561-827-9351	919-830-1747	845-741-2238	920-288-7525	512-775-2768	919-753-6304	919-523-7971	
BAR	Upper Deck	Upper Deck	Pantana's	Pantana's	Pickled	American	Pantana's	
BOARDS	17+18	3+4	Pool Hall 1+2	Pool Hall 3+4	Onion #2 2+3	Legion - FV	Pool Hall 3+4	
BAR PHONE	919-460-1786	919-460-1786	919-833-2990	919-833-2990	919-977-0031	919-557-5990	919-833-2990	
	- 2		*					

		Singles	301	Singles	Cricket	Singles	Record	Singles Win %-age	Doubles	Cricket	Doubles	501	Doubles	Record	Doubles Win %-age	Sngls + Dbls	Record	Sngls + Dbls Win %-age	Tiebreaker Ws	All-Star Points	Games Played	All-Star Point Average	Matches Played
	tatistics: week 1, postponed a e Global Element	match		.3@. 0	ć.	0	0		0	0	0	0	0	0		0	0		0		0	,	
A1/ The A 10	Kilts, Jason	0	0	0	0	0	0		0	0	0	0	0	0		0	0			$\begin{array}{c} 0.0 \\ 0.0 \\ 0.0 \end{array}$	0		0
A 11	Brown, Tom	0	Ő	Ő	0	0	0		0	0	0	0	Ő	0		0	0			0.0	0		0
A 12	Massengill, Chad	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
A 13	Minty, Ross	0	0	0	0	0	0		0	0	0	0	0	0		0	0		-	0.0	0		0
A 14	Persson, Kenny Phillips, Robbie	0	0 0	0	0 0	0 0	0 0		0 0	$\begin{array}{c} 0 \\ 0 \end{array}$	0 0	0 0	0 0	0 0		0 0	0 0			$\begin{array}{c} 0.0 \\ 0.0 \end{array}$	0		0 0
A 15 A 16	Phillips, Stevie	0	0	0	0	0	0		0	0	0	0	0	0		0	0			0.0	0		0
A 17	Smith, Allen	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0		0		0
A 18	Tan, Wil	0	0	0	0	0	0		0	0	0	0	0	0		0	0			0.0	0		0
A 19	(paid - but unfilled)	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0		0		0
A2/ The A 20	Bullies Cusher, Dean	4	2	6 0	0	10	2	0.833	3	0	0	2	$\frac{4}{0}$	2	0.667	18 0	6 1	0.750	0	-	24	1.000	1
A 21	Elder, Craig	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0 0		4	1.000	1
A 22	Foushee, Kevin	0	0	1	0	1	0	1.000	1	0	0	1	1	1	0.500	2	1	0.667	0 0		3	1.000	1
A 23	Gibson, Pat	1	0	1	0	2	0	1.000	1	0	1	0	2	0	1.000	4	0	1.000	0 0		4	1.750	1
A 24 A 25	Johnson, Michael Stewart, Pete	1	0 0	1 0	0 0	2 0	0 0	1.000	1	0 0	0 0	$1 \\ 0$	1 0	1 0	0.500	3 0	1 0	0.750	0 0		4	0.750	1 0
A 25 A 26	Stewart, P.J.	1	0	1	0	2	0	1.000	1	0	0	1	1	1	0.500	3	1	0.750	0 0		4	1.000	1
A 27	Naylor, Dan	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 (		0		0
A 28	Brown, Matt Spellman, Alex	1 0	0 0	1	0	2 0	0 0	1.000	1 0	0	0 0	$1 \\ 0$	1 0	1 0	0.500	3 0	1 0	0.750	0 0		4	0.500	1 0
* A 29	er Alliance	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
* A 30	Parker, Charles	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 (		0		0
* A 31	Keller, Tony	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0		0		0
* A 32 * A 33	Jones, Grey Gaulthier, Kyle	0	0 0	0 0	0 0	0 0	0 0		0 0	0 0	0 0	0 0	0 0	0 0		0 0	0 0		0 0		0		0 0
* A 33	Seward, Mike	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
* A 35	Fischlein, Kris	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 (		0		0
* A 36	Lange, Cody	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 (		0		0
* A 37 * A 29	Vaughan, Aaron	0	0	0 0	0	0 0	0 0		0 0	0 0	0 0	0	0 0	0 0		0 0	0 0		0 0		0		0
* A 38 * A 39	Dillon, Matt (paid - but unfilled)	0	0 0	0	0 0	0	0		0	0	0	$\begin{array}{c} 0\\ 0\end{array}$	0	0		0	0		0 0		0		0
	natic Fringe	6	0	5	1	11	1	0.917	3	0	1	2	4	2	0.667	19	5	0.792	0 (		24	1.313	
A 40	Eason, Joel	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 (		0		0
A 41 A 42	Badger, Steve Bakowski, Adam	1 0	0 0	1	0 0	2 1	0 0	$1.000 \\ 1.000$	0 1	$\begin{array}{c} 0 \\ 0 \end{array}$	0 0	1	0 1	1	0.000 0.500	2 2	1 1	0.667 0.667	0	) 5.0 ) 4.5	3	1.667 1.500	1
A 42 A 43	Bunn, Tim	1	0	1	0	2	0	1.000	0	0	0	1	0	1	0.000	2	1	0.667	0 0		3	0.333	1
A 44	Gelberg, Dave	1	0	0	0	1	0	1.000	1	0	1	0	2	0	1.000	3	0	1.000	0 (	4.0	3	1.333	1
A 45	Klann, Eric	1	0	1	0	2	0	1.000	1	0	0	0	1	0	1.000	3	0	1.000	0 (	-	3	1.333	1
A 46 A 47	Mitchell, Sid Mozzetti, Tim "Tex"	1	0 0	1 0	0 1	2 0	0 1	$1.000 \\ 0.000$	1	0 0	0 0	$\begin{array}{c} 0 \\ 1 \end{array}$	1	0 1	1.000 0.500	3 1	0 2	1.000 0.333	0 0	) 7.5 ) 5.5	3	2.500 1.833	1
A 48	Peele, Dan	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
A 49	Zawrotniak, Joe	1	0	0	0	1	0	1.000	1	0	1	0	2	0	1.000	3	0	1.000	0 (	0.0	3	0.000	1
	ned & Hammered	0	6	1	5	1	11	0.083	0	3	2	1	2	4	0.333	5	19	0.208	0 0		24	0.750	1
A 50 A 51	O'Toole, Mike Butterworth, Dan	0 0	1 1	0 0	1 0	0 0	2 1	$0.000 \\ 0.000$	0 0	1	0 1	0 0	0 1	1 1	0.000 0.500	0 1	3 2	0.000 0.333	0 0	$0 0.0 \\ 1.5$	3	0.000 0.500	1 1
A 51	Fredrick, Karl	0	1	0	1	0	2	0.000	0	1	0	1	0	2	0.000	0	4	0.000	0 0		4	0.750	1
A 53	Arnold, Jimmy	0	1	1	0	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0 0		4	1.000	1
A 54	Butterworth, Jim	0	0	0	1	0	1	0.000	0	1	1	0	1	1	0.500	1	2	0.333	0 0		3	2.000	1
A 55 A 56	Lindsey, Roy Ehrmann, Rob	0	1	0 0	1 0	0 0	2 0	0.000	0 0	1	1 0	0 0	1 0	1 0	0.500	1 0	3 0	0.250	0 0		4	0.375	1 0
A 57	Laskovics, Freddie	0	1	0	1	0	2	0.000	0	0	0	1	0	1	0.000	Ő	3	0.000	0 0		3	0.667	1
	nsistently Inconsistent	0	0	0	0	0	0		0	0	0	0	0	0		0	0			0.0	0		
* A 60	Bass, Joe	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
* A 61 * A 62	Grubb, Ed McNamara, Tim	0	0 0	0 0	0 0	0 0	0 0		0 0	$\begin{array}{c} 0 \\ 0 \end{array}$	0 0	0 0	0 0	0 0		0 0	0 0		0 0	$0.0 \\ 0.0 \\ 0.0$	0		0 0
* A 63	Schmaus, Darren	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
* A 64	Danias, Tony	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0		0		0
* A 65 * A 66	Scott, Lee Jeffcoat, Doug	0	0 0	0 0	0 0	0 0	0 0		0 0	$\begin{array}{c} 0 \\ 0 \end{array}$	0 0	0 0	0 0	0 0		0 0	0 0		0 0		0		0 0
* A 60	Denton, Mike	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
* A 68	Jones, Jimmie	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
* A 69	Gibbs, Keith	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0		0		0
A7/ Dar A 70	ty Minds Foushee, Eugene	2	4	0	6	2	10 0	0.167	0	3	2	1 0	2 0	4	0.333	6 0	18 0	0.250		0 8.5 0 0.0	24 0	0.354	0
A 70 A 71	Jobe, C.J.	0	0	0	1	0	1	0.000	0	1	1	0	1	1	0.500	1	2	0.333		3.0	3	1.000	1
A 72	Martin, Pat	0	1	0	1	0	2	0.000	0	1	0	0	0	1	0.000	0	3	0.000	0 0		3	0.000	1
A 73	Reitano, Sal	0	1	0	1	0	2	0.000	0	1	0	1	0	2	0.000	0	4	0.000	0 0		4	0.000	1
A 74 A 75	Horton, Tony Evans, Mike	1	0 1	0	1	1 0	1 2	$0.500 \\ 0.000$	0 0	1 0	1	0 1	1 0	1 1	0.500 0.000	2 0	2 3	$0.500 \\ 0.000$	0 0		43	1.125 0.333	1 1
A 76	Massengill, Randy	1	0	0	1	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0 0		4	0.000	1
A 77						~	0		0	0	0	0	0	0			0					1 1	
A 78	Massengill, Robert Venable, Mike	0	0	0 0	0 0	0 0	0 1	0.000	0 0	0 1	1	$\begin{array}{c} 0\\ 0\end{array}$	0 1	0	0.500	0	$\begin{array}{c} 0\\ 2\end{array}$	0.333	0 0	$\begin{array}{c} 0.0 \\ 0.0 \end{array}$	03	0.000	0

Liben Mustrika         Q        Q        Q         Q <t< th=""><th></th><th>Singles</th><th>301</th><th>Singles</th><th>Cricket</th><th>Singles</th><th>Record</th><th>Singles Win %-age</th><th>Doubles</th><th>Cricket</th><th>Doubles</th><th>501</th><th>Doubles</th><th>Record</th><th>Doubles Win %-age</th><th>Sngls + Dbls</th><th>Record</th><th>Sngls + Dbls Win %-age</th><th>Tiebreaker Ws Tiebreaker Ls</th><th>All-Star Points</th><th>Games Played</th><th>All-Star Point Average</th><th>Matches Played</th></t<>		Singles	301	Singles	Cricket	Singles	Record	Singles Win %-age	Doubles	Cricket	Doubles	501	Doubles	Record	Doubles Win %-age	Sngls + Dbls	Record	Sngls + Dbls Win %-age	Tiebreaker Ws Tiebreaker Ls	All-Star Points	Games Played	All-Star Point Average	Matches Played
B         I         O         I         I         O         I         I         O         I         I         O         I         I         O         I         I         O         I         I         O         I         I         O         I         I         O         I	D1/Dut It on Mattle Tab																						Z H
B         11         Ref         A         1         0         1         0         0         1         1         0         0         1         1         0         0         1         1         0         0         1         1         1         1         1         0         0         1         1         1         1         0         1         1         1         0         0         1         1         1         0         1 <th1< th="">         1         1         1</th1<>			1									1		1		12							1
B 12         Visc. J. and B 13         Visc. Sammalan B 14         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         0         1         0         0         0         1         0         0         1         0	1 ,		1						-			1		1		2			-				
R 14         Baye         D </td <td></td> <td></td> <td>-</td> <td></td> <td></td> <td>-</td> <td></td> <td></td> <td>1</td> <td></td> <td></td> <td>-</td> <td></td> <td>1</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>			-			-			1			-		1									
B         A         O         0		1			~	-	-		1			1	-	1			-				-		
B         6         All-over, Allancel         0         1         0         0         1         1         0         0         0         1         0         1         0	2	1			1	1			1			0		-			-		-		-		-
H         D					1	1			1	-													
B         1         0         0         1         0         0         1         1         0         3         0         333         1           B         0	-					-			1	-		-		-							-		
B27         B27         B         2         5         7         0.47         2         1         4         2         0.66         0 <th< td=""><td>5,</td><td></td><td>1</td><td>-</td><td>-</td><td></td><td></td><td></td><td>1</td><td></td><td></td><td></td><td></td><td>-</td><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></th<>	5,		1	-	-				1					-		-							
H         D         O	<u>,</u>	-	1	-	-	Ŷ			2	-	-	-	-	-		-			-				1
B 21         Whire, Vic         1         0         1         1         0         1         1         1         <						-				-		-											0
B         2         Tuner, Macina         0         1         0         1         0         2         0.000         1         0	,		-	-												-					-		
B         2         Cases, Jason         0         1         0         2         0         0         2         2         0 </td <td>,</td> <td>-</td> <td>1</td> <td></td> <td>1</td> <td></td> <td></td> <td></td> <td>-</td> <td>1</td> <td>-</td> <td>1</td> <td></td> <td></td> <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>-</td> <td></td>	,	-	1		1				-	1	-	1				-						-	
B 26         Alber, Jam         0         1         0         1         0         1         0         1         0         1         0         2         0         0000         1         3         2         0         1000         2         0         1000         2         2         0         1000         2         2         0         1000         2         2         0         1000         2         2         0         1000         2         2         0         1000         2         2         0			1		1					0		0									-		-
B 25         Athoff, Padey         I         0	-								-	1	-	1											
B 26         Toncalisano, Mata         0         1         0         2         0	-	1	-			-	-		1	0	1	0									-		
B         P         O		0	1	-					1		1	-				-					-		
	· · · · · · · · · · · · · · · · · · ·		0	-	0				0	-	0	-									0		
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	<i>d</i>	4	2	3		7	5	0.583	3	0			5	1	0.833	17	7	0.708	0 0	16.0	24	0.667	
B 31         Cole, Mike         '         1         0         1         1         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         1         0         1         1         0         1         1         0         0         1         1         0         0         1         1         0         0         0         1         1         0         <				1		2			1		1	-		0									1
B 32         Braco, Machael         1         0         1         1         0         1         0         1         1         1         0.00         4         0         1         1         0.00         1         1         1         0.00         1         1         1         1         1         1         1         1         1         1         1         0.00         1	,	1	-	0	1		-		1	-	0						-						
B 33         Rise, Taday         0         1         1         0         0         1         1         1         0	2	1			0				1			0		0									
B 34         Rice, Deck         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         2         0         1         0         0         1         0         1         0         1         0         2         1         0.667         0         0         2.5         3         0.833         1          B         0         1         1         0         1 <th1< th="">         1         1         &lt;</th1<>	B 33 Rice, Teddy	0	1	1	0	1	1	0.500	1	0	0	1				2					4		
B 36         Camiczzen, Tydr         0         0         1         0         1         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         0         1         0	B 34 Rice, Derek	1	0	0	1	1	1	0.500	0	0	0	0	0	0		1	1	0.500	0 0	0.0	2	0.000	1
Het Bindsided         2         4         2         4         0         333         3         0         2         1         0         1         0         1         0         2         0         1         0         1         0         2         0         1         0         1         0         2         0         1         0         1         0         1         0         1         0         2         0         1         0         1         0         1         0         1         0         1         0	B 35 Havens, Lincoln	0	1	0	0	0	1	0.000	1	0	1	0	2	0	1.000	2	1	0.667	0 0	1.0	3	0.333	1
H 40         Ridgway, Matt         1         0         1         0         1         0         2         0         1.000         3         10         0         4         1         1000         1         0         0         1         0         0         1         0         0         1         0         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         0         0         0         0         0         0         0         0         0         0         0         0         1         1         0         0         0         0         0         1         1         0 <td>B 36 Cannizzaro, Tyler</td> <td>0</td> <td>0</td> <td>0</td> <td>1</td> <td>0</td> <td>1</td> <td>0.000</td> <td>1</td> <td>0</td> <td>1</td> <td>0</td> <td>2</td> <td>0</td> <td>1.000</td> <td>2</td> <td>1</td> <td>0.667</td> <td>0 0</td> <td>2.5</td> <td>3</td> <td>0.833</td> <td>1</td>	B 36 Cannizzaro, Tyler	0	0	0	1	0	1	0.000	1	0	1	0	2	0	1.000	2	1	0.667	0 0	2.5	3	0.833	1
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $		2	4	2	4			0.333	3		2			1	0.833	14		0.583	0 0	14.5	24	0.604	
B 42         Wickox, Jandy         0         1         0         1         0         2         0.000         1         0         2         0.000         1         0         1         0         1         0 <td></td> <td>-</td> <td>0</td> <td>1</td> <td></td> <td>2</td> <td>-</td> <td></td> <td>1</td> <td>-</td> <td>1</td> <td>-</td> <td></td>		-	0	1		2	-		1	-	1	-											
B 44         Watson, Jeff, Jr.         0         1         0         1         0         1         0	,		1			-			1		1				1.000								
B 4         Crites, Randy         0	, <b>,</b>				1				0		0												
B 4         Larson, Ray <sup>^-</sup> 0         0         1         0         0         1         1         1         0         0         1         1         0         0         1         1         0         0         1         1         0         0         1         1         0         0         1         1         0         0         1         1         0         0         1         1         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         1         0         1         0         1         0         1         0         1         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0	, ,	•	-		1	-			1		1										-		
B 46         Blackwelder, Dab.         0         1         0         0         1         1         1         0         1         2         0.33         0         0         0         3         0         0         1         0         0         1         1         0         0         1         1         0         0         1         1         0         0         1         1         0         0         1         1         0         0         0         1         0         0         0         1         0         0         1         0         0         0         1         0         0         1         0         0         1         1         0         0 <td>, <u>,</u></td> <td></td> <td>-</td> <td>-</td> <td></td> <td>0</td> <td>-</td> <td></td> <td>0</td> <td>-</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>0</td> <td>-</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>	, <u>,</u>		-	-		0	-		0	-						0	-						
B 4         Heyt, David         1         0         0         1         0         2         0         1         0         2         0         0         1         0         2         0         0         1         0         0         0         1         0         0         1         0         0         0         0         1         0         1         0         0         0         0         0         0         1         0         0         0         0         0         0         0					-				1			-		-		1							
$ \begin{array}{ c c c c c c c c c c c c c c c c c c c$	-					1			1					-							-		
B 0         Snyder, Mike         0         0         1         0         1         0         1         0         0         0         1         0         0         0         1         0         0         0         1         0         0         0         1         0         0         0         1         0         0         0         1         0         1         0         0         0         1         0         1         0         0         0         1         0         0         0         1         0         0         0         0         1         0		•		-	-	1			0	-	1					-				-			1
B         1         Lizzinger, Mike         1         0         0         1         0         1         0         1         0.000         1         1         0.500         0         1.5         2         0.750         1           B         3         Gallagher, Jim         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         0         0         1         0         0         0         1         0         0         0         1         0         0         1         1         0         0         0         1         0         0         0         1         0         0         0         1         0         0         0         1         0         0         0         0         0         1         0         0         1         0         0         0         0         0         0         0         0         0         0         0         1         0         0         1         0         0         0         1         0         0         1         0	-			4							1		-	1									1
$ \begin{array}{ c c c c c c c c c c c c c c c c c c c$				0		-					0			1									
B         S3         Gallagher, Jam         1         0         1         0         0         0         1         0.000         2         1         0.667         1         1           B         54         Jager, John         0         0         1         0.000         0         1         1         0.000         1         2         0.000         1         2         0.000         1         2         0.000         1         1         0.000		-				-				1		-		-									
B         4         lager, John         0         0         0         1         0.000         0         1         0.000         0         1         0.000         1         0.000         1         0.000         0         1         0.000         1         0.000         1         1         0.000         1         1         0.000         1         1         0.000         1         1         0.000         1         1         0.000         1         0.000         1         0.000         1         0.000         1         0.000         1         0.000         1         0.000         1         0.000         1         0.000         1         0.000         1         0.000         0 <td></td> <td></td> <td></td> <td></td> <td>~</td> <td>-</td> <td></td> <td></td> <td>-</td> <td>1</td> <td></td> <td>-</td> <td></td> <td>1</td> <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td> <td>-</td> <td></td> <td></td>					~	-			-	1		-		1		-					-		
B         55         Shengulette, Jerry         0         1         0         1         1         0         1         1         0         1         1         0         1         1         0         1         1         0         0         1         1         0         0         1         1         0         0         1         0         0         1         0         0         1         0					1		1			0		1		1		0	-				-		
B 56         Veith, Matr         1         0         1         0         0         1         0.000         2         1         0.667         0         0         2         0.333         0         0         3         0.667         1           B 57         Sheer, Andy         0         1         0.00         0         1         0.000         1         2         0.333         0         0         3         1.167         1           B 58         Townsley, Sean         0         1         0				-	0		1					0		1		1							
B 58         Townsley, Sean         0         1         0         0         0         1         0.00         0         1         0.00         0         1         0.00         0<	B 56 Veith, Matt	1	0	1	0	2	0	1.000	0	1	0	0	0	1	0.000	2	1	0.667	0 0	2.0	3	0.667	1
$ \begin{array}{ c c c c c c c c c c c c c c c c c c c$	B 57 Sheer, Andy	1	0	0	1	1	1	0.500	0	0	0	1	0	1	0.000	1	2	0.333	0 0	3.5	3	1.167	1
B6/ Dysfunctional Outlaws         4         2         3         3         7         5         0.583         1         2         1         2         2         4         0.333         11         13         0.458         0         0         18.5         24         0.771           B 60         Steppe, Mike         1         0         1         1         0.500         1         0         1         1         0.500         1         0.500         2         0.500         0         0.500         1         0.500         1         0         0         1         1         0.500         1         0         1         0.500         1         0         1         0         0         1         0         0         1         0         1         0         0.500         0         1         0         0         1         0         0         1         0.000         1         0         0         0         0         0         0         1         0.000         1         0         0         0         1         0.000         1         0.000         1         0.000         1         0         0         0         0         1	B 58 Townsley, Sean	0	1	0	0	0	1	0.000	0	1	0	0	0	1	0.000	0	2	0.000	0 0	0.0	2	0.000	1
$ \begin{array}{ c c c c c c c c c c c c c c c c c c c$	B 59 Jackson, Barry	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
B 61         Clark, Dan         1         0         0         1         0         0         1         1         0         0         1         1         0         0         1         1         0         0         1         0         0         1         0         2         0         1.000         1         0         1         0         2         0         1.000         1         0         1         0         2         0         0.000         0         4         0.000         0         4         0.007         1         1         0         0         1         0         2         0.000         1         2         0.333         0         0         2.0         3         0.667         1           B 64         Peterson, Chris         1         0         1         0.500         0         1         0         1         0         1         0.000         1         1         0.000         1         0.000         0         1         0.000         1         0.000         1         0         0         0         0         0         0         0         0         0         0         0         0         <	,			3		,			1					4									
B 62         Tant, J.J.         1         0         1         0         2         0         1.000         4         0         1.000         0         0         1         0         0         0         1         0         0         0         1         0		1	-	1	0				0		-			1									
B 63         Smith, Brian         0         1         0         2         0.000         0         1         0         2         0.000         0         4         0.000         0         0         1.5         4         0.375         1           B 64         Peterson, Chris         1         0         0         1         0.000         1         2         0.333         0         2.0         3         0.667         1           B 65         Talley, Gray         0         0         1         1         0.500         0         1         0.000         1         2         0.333         0         0         3         0.250         0         0         0.00         1         0.000         1         0         0         0         1         0.000         1         0					-	-			1					-									
B 64         Peterson, Chris         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         1         0         0         1         0         1         0         0         1         0         1         0         0         1         0         1         0         0         1         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         1         0         1         0         1         0         1         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1 <th0< th=""> <th0< th=""> <th0< th=""></th0<></th0<></th0<>	·	-			0				1		-												
B 65         Talley, Gray         0         0         0         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         1         0         0         1         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0         0         1         0	-		-	-	1	0			-	-		-				-							
B 66         Murray, Shane         0         1         1         0.500         0         1         0         2         0.000         1         3         0.250         0         0         3.5         4         0.875         1           B7/ Dart Attack         4         2         2         4         6         6         0.500         0         3         3         0.500         12         12         0.500         7         0         14.5         24         0.604           B 70         Stoy, Jamie         0         0         0         0         1         0 </td <td>-</td> <td></td> <td></td> <td></td> <td>-</td> <td>1</td> <td></td> <td></td> <td>-</td> <td>-</td> <td></td> <td></td> <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>-</td> <td></td> <td></td>	-				-	1			-	-				-							-		
B7/ Dart Attack         4         2         2         4         6         6         0.500         0         3         3         0.500         12         12         0.500         7         0         14.5         24         0.604           B 70         Stoy, Jamie         0         0         0         1         0.000         0         1         0.000         0         1         0.000         0         2         0.000         1         0         1.0         0 <td< td=""><td></td><td></td><td>0</td><td></td><td></td><td>0</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>			0			0																	
B 70         Stoy, Jamie         0         0         1         0         0         1         0.000         0         2         0.000         1         0         0         0         1         0.000         0         2         0.000         1         0 <th< td=""><td></td><td></td><td>1</td><td></td><td>-</td><td>I</td><td>-</td><td></td><td></td><td>1</td><td>-</td><td>1</td><td>-</td><td></td><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td>1</td></th<>			1		-	I	-			1	-	1	-			-							1
B 71       Stoy, Kara       0       <					4					5				5					/ 0				1
B 72       Stoy, Carson       1       0       1       0       1       1       0       1       1       0.500       3       1       0.750       1       0       3.5       4       0.875       1         B 73       Milligan, Steve       0       1       1       0       1       1       0       1       1       0.500       2       2       0.500       1       0       2.0       4       0.500       1         B 74       Chalmers, Alan       1       0       0       1       1       0.500       0       1       1       0.500       2       2       0.500       1       0       4.0       4       1.000       1         B 75       Wooten, Michael       0       1       1       0.500       0       1       1       0       1.0       1       0       0.0       2       2       0.500       1       0       0.0       2       0.000       1       1       0.500       0       1       1       0.500       1       1       0.500       0       1       1       0.500       1       1       0       1       0       1       1       0.500	5		-	-	1					1				1		-							
B 73       Miligan, Steve       0       1       1       0       0       1       1       0       0       1       1       0       0       1       1       0       0       1       1       0       0       1       1       0       0       1       1       0				-																	-		
B 74       Chalmers, Alan       1       0       1       1       0       0       1       1       0       0       1       1       0       0       1       1       0       0       1       1       0       0       1       1       0       0       1       1       0       0       0       0       0       0       0       0       0       0       0       0       0       0       0       0       0       1       1       0       0       0       0       0       0       0       0       0		-	1		-		-			-	-			-									
B 75       Wooten, Michael       0       1       0       0       1       0       1       0       1       0       1       0       1       0       1       0       1       0       1       0       1       0       1       1       0.500       1       1       0.500       1       1       0.500       2       2       0.500       1       0       1       1       0.500       2       2       0.500       1       0       1       1       0.500       2       2       0.500       1       0       1       1       0.500       2       2       0.500       1       0       1       1       0.500       2       2       0.500       1       0       1       1       0.500       2       2       0.500       1       0       1       1       0.500       2       2       0	6		1 ()	-	~	1	-		-	-	1	-		-					-		-		
B 76       Jones, Mike       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0						0			-		1			-									
B 77       Ferguson, Travis       0	-										1	-											
B 78       Bowman, Merrill       1       0       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0	-	-	-		-	-				-	-			-									
B8/Iceman's Ear Defenders       2       4       3       3       5       7       0.417       0       3       1       2       1       5       0.167       7       17       0.292       0       0       17.5       24       0.729         B 80       Jespersen, Bill       0       1       1       0       1       1       0       1       1       0.500       0       1       1       0.500       2       2       0.500       0       0       3.0       4       0.750       1         B 81       Palmer, Matt       1       0       1       1       0.500       0       1       0       2       0.000       2       2       0.500       0       4       0.750       1         B 82       Palmer, Matt       1       0       1       1       0.500       0       1       0       2       0.000       1       3       0.250       0       0       4       0.500       1         B 82       Palmer, Joy       1       0       1       1       0.500       0       1       0       2       0.000       1       3       0.250       0       0       0.500<		1	0	0		1		0.500	0	1		0	1	1	0.500			0.500			4	0.750	1
B 80       Jespersen, Bill       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       1       1       0       0		0	0	0			-				0		0	0		0			0 0	0.0			0
B 81       Palmer, Matt       1       0       1       0       2       0       1.000       0       1       0       1       0       2       0.000       2       2       0.500       0       0       4.0       4       1.000       1         B 82       Palmer, Joy       1       0       1       1       0       1       0       1       0       2       0.000       1       3       0.250       0       0       4       0.500       1         B 83       Daye, Ashley       0<				3		5					1		-										
B 82       Palmer, Joy       1       0       0       1       1       1       0.500       0       1       0       1       3       0.250       0       0       2.0       4       0.500       1         B 83       Daye, Ashley       0       0       0       0       0       0       0       0       0       0       0       0       0       0       1       3       0.250       0       0       2.0       4       0.500       1         B 83       Daye, Ashley       0	1 ·	0	-	1		1			-	-	-			-									-
B 83       Daye, Ashley       0	-	1																					
B 84       Page, Scott       0       1       1       0.500       0       1       0       1       3       0.250       0       0       4       1.125       1         B 85       Eubanks, Hunter       0 <td< td=""><td></td><td>1</td><td></td><td></td><td></td><td>-</td><td></td><td></td><td>-</td><td>-</td><td></td><td></td><td></td><td></td><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>		1				-			-	-						-							
B 85       Eubanks, Hunter       0			-	-	-	0	-		-							0					-		
B 86 McEwan, Chris 0 1 0 1 0 2 0.000 0 1 1 0 1 1 0.500 1 3 0.250 0 0 2.0 4 0.500 1	0		-		-	1			-	-		-											
									-	-						-					-		-
			1 1		1					1		1		-									1
	2 c) 2000rouux, murt	5		v		0	-	0.000			Ū		0	-	0.000		·		<i>.</i> 0	2.0		0.000	

	gles		Singles	sket	Singles	ord	Singles Win %-age	Doubles	ket	Doubles		Doubles	ord	Doubles Win %-age	Sngls + Dbls	ord	Sngls + Dbls Win %-age	Tiebreaker Ws	Tiebreaker Ls	All-Star Points	Games Played	All-Star Point Average	Matches Played
	Singles	301	Sing	Cricket	Sing	Record	Sing %-a	Dou	Cricket	Dou	501	Dou	Record	Double %-age	Sng	Record	Sng Win	Tieb	Tieb	All-Sta Points	Gan	All- Ave	Mat Play
C1/ Double In Stumble Out	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		
C 10 Beaudoin, Paul	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
C 11 McQueen, Jamie	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
C 12 Ridenour, Ron	0 0	0 0	0 0	0 0	0 0	0 0		0	0	0	0 0	0 0	0 0		0 0	0 0		0 0	0	0.0 0.0	0		0
C 13 Davis, Jimmy C 14 Benson, Brian	0	0	0	0	0	0		0	0 0	0 0	0	0	0		0	0		0	0 0	0.0	0		0 0
C 14 Benson, Bhan C 15 Holland, Steve	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
C 16 Hall, Mike	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
C 17 Crumpler, Greg	Ő	Õ	0	0	Ő	ů 0		Ő	ů 0	Ő	Ő	Õ	0		Ő	ů 0		Ő	0	0.0	Ő		0
C 18 Northrup, Lynzie	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
C 19 Rodgers, Trey	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
C2/ Shooter McGavin	3	3	5	1	8	4	0.667	1	2	1	2	2	4	0.333	12	12	0.500	6	0	10.5	24	0.438	
C 20 Knott, Ryan	1	0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	1	0	3.5	4	0.875	1
C 21 Knott, Ronnie	1	0	1	0	2	0	1.000	0	1	0	1	0	2	0.000	2	2	0.500	1	0	2.5	4	0.625	1
C 22 Sautter, Scott	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	1	0	1.0	4	0.250	1
C 23 Sautter, Don	0	1	1	0	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	1	0	2.0	4	0.500	1
C 24 Schon, Chris C 25 Toolan, Chris	0 0	1 0	0 0	$1 \\ 0$	0 0	2 0	0.000	0	1	0 0	1 0	0 0	2 0	0.000	0 0	4 0	0.000	1 0	0 0	1.5 0.0	4 0	0.375	1 0
C 26 Stewart, Kevin	1	0	1	0	2	0	1.000	0	1	0	1	0	2	0.000	2	2	0.500	1	0	0.0	4	0.000	1
C3/ Show Me Your Tips	3	3	2	4	5	7	0.417	2	1	3	0	5	1	0.833	15	9	0.625	0	0	12.5	24	0.521	1
C 30 Bialaszewski, Rich	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	2.0	4	0.500	1
C 31 Powell, Lee	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	6.0	4	1.500	1
C 32 Bushman, Brad	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
C 33 Bumpass, Mike	0	1	0	1	0	2	0.000	1	0	1	0	2	0	1.000	2	2	0.500	0	0	0.0	4	0.000	1
C 34 Raquet, Mike	1	0	0	1	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0	0	0.0	4	0.000	1
C 35 Denton, Fon	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
C 36 Joyal, Paul	1	0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	0	0	2.0	4	0.500	1
C 37 Blake, Terry	0	1	0	1	0	2	0.000	1	0	1	0	2	0	1.000	2	2	0.500	0	0	2.5	4	0.625	1
C 38 Gardner, Kenn	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
C4/ Nine Lives	3	3	1	5	4	8	0.333	1	2	1	2	2	4	0.333	8	16	0.333	0	0	11.5	24	0.479	1
C 40 Romanchek, David	0	1	0	1	0	2 0	0.000	0	1	0	1	0	2 0	0.000	0	4	0.000	0	0	1.0	4	0.250	1
C 41 Copple, Matthew C 42 Smith, Butch	1 0	0 0	1 0	0 0	2 0	0	1.000	1 0	0 0	0	0 0	2 0	0	1.000	4 0	0 0	1.000	00	0 0	4.0 0.0	4 0	1.000	1 0
C 42 Simili, Butch C 43 Mays, John	1	0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	1.0	4	0.250	1
C 44 Keever, David	0	1	0	1	0	2	0.000	0	1	0	1	0	2	0.000	0	4	0.000	0	0	0.0	4	0.000	1
C 45 Gibson, Jack	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
C 46 Porcelli, Robb	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	3.5	4	0.875	1
C 47 Smith, Tyler	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
C 48 Fitzgerald, Dennis	0	1	0	1	0	2	0.000	0	1	0	1	0	2	0.000	0	4	0.000	0	0	2.0	4	0.500	1
C5/ Trippin Bulls	3	3	5	1	8	4	0.667	2	1	2	1	4	2	0.667	16	8	0.667	0	0	13.5	24	0.563	
C 50 Hoover, Kim	0	0	0	0	0	0		0	1	0	0	0	1	0.000	0	1	0.000	0	0	0.0	1	0.000	1
C 51 Ellis, E.J.	0	1	1	0	1	1	0.500	0	0	1	0	1	0	1.000	2	1	0.667	0	0	2.0	3	0.667	1
C 52 Ginger, Chuck	1 0	0 1	1	0 0	2 1	0	1.000	1	0 0	0	1 0	1	1 0	0.500	3	1	0.750	0	0 0	1.0	4 3	0.250	1 1
C 53 Bruemmer, Wes C 54 Haire, Chris	0	1	1 0	0	1	1 1	$0.500 \\ 0.000$	1	0	1	0	1 2	0	$1.000 \\ 1.000$	2 2	1 1	$0.667 \\ 0.667$	0 0	0	2.5 0.0	3	0.833 0.000	1
C 55 Velazqez, Jesse	1	0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	0	0	5.0	4	1.250	1
C 56 Rosenfeld, Leslie	1	0	1	0	2	0	1.000	0	0	1	0	1	0	1.000	3	0	1.000	0	0	3.0	3	1.000	1
C 57 Morgan, Larry	0	0	0	1	0	1	0.000	1	0	0	1	1	1	0.500	1	2	0.333	Ő	0	0.0	3	0.000	1
C6/ Rif Raf	3	3	4	2	7	5	0.583	1	2	0	3	1	5	0.167	9	15	0.375	0	0	8.0	24	0.333	
C 60 Diamond, Paddy	0	1	1	0	1	1	0.500	0	1	0	0	0	1	0.000	1	2	0.333	0	0	1.0	3	0.333	1
C 61 St. Clair, Matt	0	1	0	1	0	2	0.000	0	0	0	1	0	1	0.000	0	3	0.000	0	0	0.0	3	0.000	1
C 62 Gaertner, Brian	0	1	0	0	0	1	0.000	1	0	0	0	1	0	1.000	1	1	0.500	0	0	0.0	2	0.000	1
C 63 Byrne, Matt	1	0	1	0	2	0	1.000	0	1	0	1	0	2	0.000	2	2	0.500	0	0	3.5	4	0.875	1
C 64 Shorrock, Will	0	0	1	0	1	0	1.000	0	1	0	1	0	2	0.000	1	2	0.333	0	0	1.0	3	0.333	1
C 65 Reid, Chris	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
C 66 Zelmer, Tom C 67 Piquet, David	1 0	0 0	0	0 0	1	0 0	1.000	0 0	0 1	0 0	1	0 0	1	0.000	1	1	0.500	0	0	0.0	2 3	0.000	1
C 67 Piquet, David C 68 Winters, Tom "Tiny"	0	0	1 0	0	1	1	1.000 0.500		1	0	1	1	2 1	$0.000 \\ 0.500$	1 2	2 2	0.333 0.500	0 0	0 0	2.5 0.0	3 4	0.833 0.000	1 1
C 68 Winters, Tom Tiny C 69 Howsare, Patrick	1	0	0	$1 \\ 0$	1	1	0.500	1 0	0	0	1 0	1	$1 \\ 0$	0.500	2 0	$\frac{2}{0}$	0.500	0	0	0.0	4	0.000	0
C7/ Darty Sanchez	3	3	1	5	4	8	0.333	2	1	2	1	4	2	0.667	12	12	0.500	0	7	15.0	24	0.625	
C 70 Trefzger, Mike	0	1	0	1	0	2	0.000	0	1	0	1	0	2	0.007	0	4	0.000	0	1	0.0	4	0.000	1
C 71 Trefzger, Eric	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
C 72 Maierhofer, Sean	0	1	0	0	0	1	0.000	1	0	0	0	1	0	1.000	1	1	0.500	0	1	1.0	2	0.500	1
C 73 Goodrich, Brett	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	1	4.5	4	1.125	1
C 74 Wernet, Brad	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
C 75 Collier, Chris	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	1	2.0	4	0.500	1
C 76 Stroud, Zach	0	0	0	1	0	1	0.000	0	1	0	1	0	2	0.000	0	3	0.000	0	1	0.0	3	0.000	1
		0	1	0	2	0	1.000	1	0	1	0	2	0	1.000	4	0	1.000	0	1	7.5	4	1.875	1
C 77 Robinson, Mike	1	0	-							1			-		-								
C 77 Robinson, Mike C 78 Pujol, Ollie Barreiro C 79 Bell, Austin	1 0 0	0 1 0		0 1 0	2 0 0	2 0	0.000	0	0 0	1 0	0 0	1 0	0 0	1.000	1 0	2 0	0.333	0 0	1 0	0.0 0.0	3	0.000	1 0

							Vin							Win	Dbls		<b>D</b> bls ge	er Ws	er Ls		layed	Point	
	Singles	301	Singles	Cricket	Singles	Record	Singles Win %-age	Doubles	Cricket	Doubles	501	Doubles	Record	Doubles Win %-age	Sngls + Dbls	Record	Sngls + Dbls Win %-age	Fiebreaker Ws	Tiebreaker Ls	All-Star Points	Games Played	All-Star Point Average	Matches Played
D1/ Off Constantly-Reboot	<u>s</u>	<u></u>	<u>s</u>	2	8	4	0.667	3	0	1	2	4	2	0.667	16	8	0.667	<u>н</u>	<u>Т</u>	<u>≺, р.</u> 17.0	24	0.708	A P
D 10 Roberts, Mike	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 11 Kubel, Nicole	0	0	1	0	1	0	1.000	1	0	1	0	2	0	1.000	3	0	1.000	0	0	2.0	3	0.667	1
D 12 Olson, Kevin	0	1	1	0	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0	0	3.0	4	0.750	1
D 13 Blackwelder, Allyson D 14 Azevedo, Angelo	0	1 0	1 0	0	1	1	0.500	0	0 0	1	0	1 1	0 1	1.000 0.500	2	1 2	0.667	0 0	0 0	1.5 1.0	3 4	0.500 0.250	1
D 14 Azevedo, Angelo D 15 Lueneburg, Randy	1	0	0	1	1 1	1	$0.500 \\ 0.500$	1	0	0	1	1	1	0.500	2 2	2	$0.500 \\ 0.500$	0	0	1.0 3.0	4	0.250	1
D 16 Roberts, Mason	1	0	0	0	1	0	1.000	1	0	0	0	1	0	1.000	2	0	1.000	0	0	2.0	2	1.000	1
D 17 Tufillaro, Lou	1	0	1	0	2	0	1.000	1	0	0	1	1	1	0.500	3	1	0.750	0	0	4.5	4	1.125	1
D2/ DD-214	2	4	2	4	4	8	0.333	0	3	2	1	2	4	0.333	8	16	0.333	0	0	9.0	24	0.375	
D 20 Beaird, Tommy	0	1	1	0	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0	0	2.5	4	0.625	1
D 21 Guenther, George D 22 Gabry, Greg	0	1 1	0 0	0	0 0	1 1	$0.000 \\ 0.000$	0 0	0	0 0	0	0 0	0 2	0.000	0	1 3	$\begin{array}{c} 0.000\\ 0.000\end{array}$	0 0	0 0	0.0 0.0	1 3	$0.000 \\ 0.000$	1
D 22 Gabry, Greg D 23 Brody, Kevin	0	0	0	0	0	0	0.000	0	0	0		0	0	0.000	0	0	0.000	0	0	0.0	0	0.000	0
D 24 Jones, Jeff	0	1	0	1	0	2	0.000	0	1	0	0	0	1	0.000	0	3	0.000	0	0	0.0	3	0.000	1
D 25 Owen, Hal	1	0	0	1	1	1	0.500	0	0	1	0	1	0	1.000	2	1	0.667	0	0	0.0	3	0.000	1
D 26 Thomas, Joe "Antique"	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 27 Feldman, Jarrett "JD"	0	0	0	1	0	1	0.000	0	1	1	0	1	1	0.500	1	2	0.333	0	0	0.0	3	0.000	1
D 28 Schwartz, Sebastian D 29 Teegarden, Travis	1 0	0 0	1 0	0	2 0	0 1	$1.000 \\ 0.000$	0 0	1	1 0	0	1 0	1 2	0.500 0.000	3 0	1 3	$0.750 \\ 0.000$	0 0	0 0	2.5 4.0	4 3	0.625 1.333	1
D 29 Teegarden, Travis D3/ One Armed Bandits	3	3	5	1	8	4	0.667	0	3	2	1	2	4	0.333	12	12	0.500	7	0	17.0	24	0.708	1
D 30 Kiser, Lyman	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 31 Rudy, Jeff	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 32 White, Jim	0	1	1	0	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	1	0	2.0	4	0.500	1
D 33 Hansen, Josh	0	0	1	0	1	0	1.000	0	0	1	0	1	0	1.000	2	0	1.000	1	0	1.5	2	0.750	1
D 34 Murphy, Phil	1	0 0	1	0 1	2	0 1	1.000	0 0	1	0	1	0	2 1	0.000	2 2	2 2	0.500	1	0	0.0	4 4	0.000	1
D 35 Trefzger, Ken D 36 Richardson, Shane	0	1	0	1 0	1 1	1	0.500 0.500	0	1	1	0	1 0	2	0.500 0.000	1	3	0.500 0.250	1 1	0 0	2.0 6.5	4	0.500 1.625	1
D 37 Kinden, Pete	0	1	0	0	0	1	0.000	0	1	0	0	0	1	0.000	0	2	0.000	1	0	0.0	2	0.000	1
D 38 Cashin, Jeff	1	0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	1	0	5.0	4	1.250	1
D4/ BullsHit	3	3	1	5	4	8	0.333	3	0	1	2	4	2	0.667	12	12	0.500	0	8	11.5	24	0.479	
D 40 Long, Gary	0	1	0	0	0	1	0.000	1	0	0	0	1	0	1.000	1	1	0.500	0	1	0.0	2	0.000	1
D 41 Gardner, Mike D 42 Ellington, Dave	0 0	1 0	1 0	0	1 0	1 1	$0.500 \\ 0.000$	1	0 0	0 0	1 1	1 1	1	0.500 0.500	2	2 2	0.500 0.333	0 0	1 1	2.5 0.0	4 3	0.625 0.000	1 1
D 42 Enligion, Dave D 43 Long, Robert	0	0	0	1	0	1	0.000	0	0	0	1	0	1	0.000	0	2	0.333	0	$1 \\ 0$	0.0	2	0.000	1
D 44 Reece, Robert	1	0	0	0	1	0	1.000	0	0	0	0	0	0		1	0	1.000	0	1	1.5	1	1.500	1
D 45 Schroll, Jake	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	1	1.0	4	0.250	1
D 46 Jones, Dustin	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	1	3.0	4	0.750	1
D 47 Morin, Deane "Dino"	0	0	0	1	0	1	0.000	1	0	0	0	1	0	1.000	1	1	0.500	0	1	1.0	2	0.500	1
D 48 Williams, Denwood D5/ Cheap Shots	0	1	0	0	0	1	0.000	0	0	0	1 0	0	1	0.000 0.833	0	2 9	0.000	0	1	2.5 19.0	2 24	1.250 0.792	I
D 50 Buckman, Dave	0	3	2	4	0	7	0.417	0	1	3	0	1	1	0.833	13	2	0.333	0	0	2.0	3	0.792	1
D 51 Burney, Gary	1	0	0	0	1	0	1.000	1	0	1	0	2	0	1.000	3	0	1.000	0	0	6.0	3	2.000	1
D 52 Hindle, Mikey	1	0	0	1	1	1	0.500	1	0	0	0	1	0	1.000	2	1	0.667	0	0	3.5	3	1.167	1
D 53 Witz, Steve	0	0	1	0	1	0	1.000	1	0	1	0	2	0	1.000	3	0	1.000	0	0	1.0	3	0.333	1
D 54 James, Bob	0	1	0	1	0	2	0.000	0	0	1	0	1	0	1.000	1	2	0.333	0	0	1.5	3	0.500	1
D 55 McMillan, Bill D 56 Sellers, Mark	1 0	0 0	0	1 0	1 0	1 0	0.500	0 0	1 0	0 0	0 0	0 0	1 0	0.000	1 0	2 0	0.333	0 0	0 0	1.0 0.0	3 0	0.333	1 0
D 50 Seriers, Wark D 57 Clark, Bryce	0	1	0	1	0	2	0.000	0	0	1	0	1	0	1.000	1	2	0.333	0	0	1.5	3	0.500	1
D 58 Britt, Jacob	0	0	1	0	1	0	1.000	1	0	1	0	2	0	1.000	3	0	1.000	0	0	2.5	3	0.833	1
D6/ Red-eye Rangers	3	3	4	2	7	5	0.583	1	2	0	3	1	5	0.167	9	15	0.375	0	0	9.0	24	0.375	
D 60 Kunesh, Joe	0	1	0	0	0	1	0.000	0	0	0	1	0	1	0.000	0	2	0.000	0	0	1.5	2	0.750	1
D 61 Rouse, Chuck	0	0	0	1	0	1	0.000	0	1	0	0	0	1	0.000	0	2	0.000	0	0	0.0	2	0.000	1
D 62 Barnes, Will D 63 Kirkpatrick, Scott	1 1	0 0	1	0 0	2 2	0 0	$1.000 \\ 1.000$	0 0	1	0 0	1 1	0 0	2 2	$0.000 \\ 0.000$	2 2	2 2	0.500 0.500	0 0	0 0	1.0 2.0	4 4	0.250 0.500	1 1
D 63 Kirkpatrick, Scott D 64 Raper, Jeromie	0	1	1	0	2	1	0.500	0	1 0	0	1	0	2	0.000	1	2	0.300	0	0	2.0 3.5	4	1.167	1
D 65 Powell, Mark	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 66 Robertson, Chris	1	0	0	1	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0	0	1.0	4	0.250	1
D 67 Mitchell, Bill	0	1	0	0	0	1	0.000	0	1	0	0	0	1	0.000	0	2	0.000	0	0	0.0	2	0.000	1
D 68 Golden, Bill	0	0	1	0	1	0	1.000	1	0	0	1	1	1	0.500	2	1	0.667	0	0	0.0	3	0.000	1
D7/ Menace 2 Sobriety D 70 White, J.J.	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 70 White, 5.5. D 71 Johnson, Dave	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 72 Price, Brady	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 73 Bouchard, Keith	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 74 Gartland, James	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
D 75 Rogers, Spencer D 76 Baker, Dennis	0 0	0 0	0 0	0 0	0 0	0 0		0	0 0	0 0	0 0	0 0	0 0		0	0 0		0 0	0 0	0.0 0.0	0 0		0
D 76 Baker, Dennis D 77 McCartney, Eric	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
	5	0	5	5	5	5		5	5	5	5	5	5	1	5	5		5	ÿ	0.0	<i>.</i>	I	, v

	<u> </u>							1							1			ر ا					1
							. <b>E</b> .							Vin	bls		bls e	Tiebreaker Ws	r Ls		Games Played	All-Star Point Average	
	so.		~	t	s	-	Singles Win %-age	SS	t t	SS		Se		Doubles Win %-age	Sngls + Dbls	_	Sngls + Dbls Win %-age	ake	Tiebreaker	ır	Pla	ur P ge	SS .
	Singles	_	Singles	Cricket	Singles	Record	Singles %-age	Doubles	Cricket	Doubles	_	Doubles	Record	Double %-age	sls	Record	- slg n %	bre	bre	All-Star Points	mes	All-Star I Average	Matches Played
	Sin	301	Sin	Cri	Sin	Rec	Sin %-:	Do	Ci	Do	501	Do	Rec	Do %-:	Sng	Rec	Sngl: Win	Tie	Tie	All Poi	Gai	All Av	Ma
E1/ Hump Day!	2	4	5	1	7	5	0.583	2	1	1	2	3	3	0.500	13	11	0.542	0	0	7.0	24	0.292	
E 10 Deemer, Randy	0	0	1	0	1	0	1.000	1	0	1	0	2	0	1.000	3	0	1.000	0	0	2.5	3	0.833	1
E 11 Todd, Patrick	0	1	0	0	0	1	0.000	1	0	0	1	1	1	0.500	1	2	0.333	0	0	1.0	3	0.333	1
E 12 Bush, Jim	0	1	0	1	0	2	0.000	0	0	0	1	0	1	0.000	0	3	0.000	0	0	0.0	3	0.000	1
E 13 McEwen, William	1	0	1	0	2	0	1.000	1	0	0	1	1	1	0.500	3	1	0.750	0	0	2.5	4	0.625	1
E 14 Moore, Mark	0	0	1	0	1	0	1.000	1	0	0	0	1	0	1.000	2	0	1.000	0	0	1.0	2	0.500	1
E 15 Krestalude, Andy	1	0	1	0	2	0	1.000	0	1	0	1	0	2	0.000	2	2	0.500	0	0	0.0	4	0.000	1
E 16 Rutten, Pete	0	1	0	0	0	1	0.000	0	0	1	0	1	0	1.000	1	1	0.500	0	0	0.0	2	0.000	1
E 17 Stuckey, Rob	0	1	1	0	1	1	0.500	0	1	0	0	0	1	0.000	1	2	0.333	0	0	0.0	3	0.000	1
E2/ Bad Mutha Duckas	5	1	5	1	10	2	0.833	3	0	1	2	4	2	0.667	18	6	0.750	0	0	15.0	24	0.625	1
E 20 Kuppler, Bob	0	0	0	0	0	0		0	0	1	0	1	0	1.000	1	0	1.000	0	0	0.0	1	0.000	1
E 21 Carawon, Harris E 22 Converse, Laurence	1	0 0	1 0	0 0	2 0	0 0	1.000	1	0 0	0 0	$1 \\ 0$	1 0	1 0	0.500	3 0	1 0	0.750	0 0	0 0	2.5 0.0	4 0	0.625	1 0
E 22 Converse, Eaurence E 23 Ellis, Tim	0	1	1	0	1	1	0.500	1	0	0	0	1	0	1.000	2	1	0.667	0	0	0.0	3	0.000	1
E 23 Enns, Thin E 24 Finney, Dave	1	0	1	0	2	0	1.000	1	0	0	1	1	1	0.500	3	1	0.750	0	0	4.5	4	1.125	1
E 25 Kuppler, Alex	0	0	0	1	0	1	0.000	1	0	0	0	1	0	1.000	1	1	0.500	0	0	1.0	2	0.500	1
E 26 Lalino, Steve	Ő	Õ	0	0	Ő	0		0	ů 0	1	Ő	1	Ő	1.000	1	0	1.000	0	0	0.0	1	0.000	1
E 27 Phillips, Britt	1	0	0	ů 0	1	0	1.000	0	0	0	1	0	1	0.000	1	1	0.500	0	0	0.0	2	0.000	1
E 28 Phillips, Josh	1	0	1	0	2	0	1.000	1	0	0	1	1	1	0.500	3	1	0.750	0	0	1.0	4	0.250	1
E 29 Samaluk, Somchai	1	0	1	0	2	0	1.000	1	0	0	0	1	0	1.000	3	0	1.000	0	0	6.0	3	2.000	1
E3/ Irish Ton	3	3	1	5	4	8	0.333	1	2	3	0	4	2	0.667	12	12	0.500	7	0	10.0	24	0.417	
E 30 Cominole, Jeremy	1	0	0	1	1	1	0.500	0	0	1	0	1	0	1.000	2	1	0.667	1	0	1.5	3	0.500	1
E 31 Yarsawich, Brian	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 32 Rossbach, Mark	0	0	0	1	0	1	0.000	0	0	0	0	0	0		0	1	0.000	0	0	3.0	1	3.000	1
E 33 Wilson, Travis	0	0	0	1	0	1	0.000	0	1	1	0	1	1	0.500	1	2	0.333	1	0	1.5	3	0.500	1
E 34 Ball, Pat	1	0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	1	0	2.5	4	0.625	1
E 35 Cody, Mike	0	1	0	0	0	1	0.000	0	1	1	0	1	1	0.500	1	2	0.333	1	0	0.0	3	0.000	1
E 36 Cody, Dan	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	1	0	0.0	4	0.000	1
E 37 Cody, Chris	0	1	0	0	0	1	0.000	1 0	0	1	0	2	0	1.000	2 0	1 0	0.667	1	0	0.0	3 0	0.000	1
E 38 Byleund, Jay E 39 Ball, John	0	0	0	0	0	0 2	0.000	0	0	0 0	0 0	0 0	0 1	0.000	0	3	0.000	0 1	0 0	0.0 1.5	3	0.500	1
E 39 Ban, John E4/ Sharky's Machine	0	0	0	0	0	0	0.000	0	0	0	0	0	0	0.000	0	0	0.000	0	0	0.0	0	0.300	1
E 40 Bateman, Jimmy	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 41 Allison, Frank	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 42 Borgia, Pete	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0 0		Ő
E 43 Barrett, Darren	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 44 Schaefer, Dan	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 45 Kruger, Lonny	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 46 Schaefer, John	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 47 Schaefer, Michael	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 48 Fink, Scott	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E5/ That's What She Said	1	5	1	5	2	10	0.167	0	3	2	1	2	4	0.333	6	18	0.250	0	0	3.5	24	0.146	
E 50 Caldwell, Taylor	0	1	0	1	0	2	0.000	0	1	0	1	0	2	0.000	0	4	0.000	0	0	1.0	4	0.250	1
E 51 Knight, Romuald	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 52 Adams, Doug	1	0	0	1	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0	0	1.5	4	0.375	1
E 53 McDavid, Craig	0	1	1	0		1	0.500	0	1	0		0	2	0.000	1	3	0.250	0	0	0.0	4	0.000	1
E 54 Moulden, Jeremy	0	0 1	0	0	0	0 2		0 0	0 1	0	0 0	0 1	0		0	0 3	0.250	0	0	0.0	0 4	0.250	0
E 55 Smith, Ron "Captain" E 56 Clement, Dawn	0	1	0	1	0	2	$0.000 \\ 0.000$	0	1	1	0	1	1 1	0.500 0.500	1	3	0.250 0.250	0 0	0 0	1.0 0.0	4	0.250 0.000	1
E 56 Clevenger, Lee	0	1 1	0	1	0	2	0.000	0	1	1	0	1	1	0.500	1	3 3	0.250	0	0	0.0	4	0.000	1
E 57 Clevenger, Lee E6/ Death Throw	3	3	5	1	8	4	0.667	2	1	0	3	2	4	0.333	12	12	0.230	0	6	13.5	24	0.563	1
E 60 Willis, Tolson	1	0	1	0	2	4	1.000	0	1	0	1	0	2	0.000	2	2	0.500	0	1	2.0	4	0.500	1
E 61 Bosier, Sean	1	0	1	0	2	0	1.000	0	1	0	1	0	2	0.000	2	2	0.500	0	1	3.5	4	0.875	1
E 62 Mathews, Dave	0	1	0	1	0	2	0.000	1	0	0	1	1	1	0.500	1	3	0.250	0	1	1.0	4	0.250	1
E 63 Willis, Angie	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 64 Mathews, Olivia	0	1	1	0	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0	1	2.0	4	0.500	1
E 65 Bradshaw, Tyler	1	0	1	0	2	0	1.000	1	0	0	1	1	1	0.500	3	1	0.750	0	1	3.0	4	0.750	1
E 66 Fortune, Chase	0	1	1	0	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0	1	2.0	4	0.500	1
E 67 Willis, Bladen	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E7/ Y.N.T.A.	4	2	1	5	5	7	0.417	1	2	2	1	3	3	0.500	11	13	0.458	0	0	7.0	24	0.292	
E 70 Turner, Kevin	0	1	1	0	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	2.5	4	0.625	1
E 71 Ago, Alvin	0	0	0	1	0	1	0.000	0	1	0	0	0	1	0.000	0	2	0.000	0	0	0.0	2	0.000	1
E 72 Barletta, Phil	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 73 Ejlali, Shervin	1	0	0	1	1	1	0.500	0	0	1	0	1	0	1.000	2	1	0.667	0	0	0.0	3	0.000	1
E 74 Emerton, Eric	1	0	0	1		1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0	0	3.0	4	0.750	1
E 75 Hamer, Andrew E 76 Martin, Claude	1 0	0 1	0	1 0	1	1 1	$0.500 \\ 0.000$	1 1	0 0	1 1	0 0	2 2	0 0	1.000	3 2	1 1	0.750 0.667	0 0	0 0	1.5 0.0	4 3	0.375 0.000	1
E 76 Martin, Claude E 77 Nguyen, Henry	0	1	0	0	0	1	0.000	1	0	1 0	0	2	0	1.000	2	1 0	0.66/	0	0	0.0	3 0	0.000	0
	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
E 78 Scott Kevin			/	v		v			v				0			v			v	0.0	v		
E 78 Scott, Kevin E 79 Woodard, Dave	1	0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	0.0	4	0.000	1

Singles 301	Singles	Cricket	Singles	Record	Singles Win %-age	Doubles	Cricket	Doubles	501	Doubles	Record	Doubles Win %-age	Sngls + Dbls	Record	Sngls + Dbls Win %-age	Tiebreaker Ws	Tiebreaker Ls	All-Star Points	Games Played	All-Star Point Average	Matches Played
F1/ Shark Shooters 2 4	3	3		7	0.417	0	3	1	2	1	5	0.167	7	17	0.292	0	0	6.0	24	0.250	
F 10 Stacy, Michelle 0 0	0	0		0		0	1	0	1	0	2	0.000	0	2	0.000	0	0	0.0	2	0.000	1
F 11 Stacy, Rod 1 0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	0	0	2.0	4	0.500	1
F 12 Mitchell, Liz 0 0	0	1	0	1	0.000	0	1	0	1	0	2	0.000	0	3	0.000	0	0	2.0	3	0.667	1
F 13 Mercer, Dave 0 0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 14 Lane, Timothy 0 1	1	0	1	1	0.500	0	1	0	0	0	1	0.000	1	2	0.333	0	0	1.0	3	0.333	1
F 15 Moger, Liza 0 1	0	0	0	1	0.000	0	1	1	0	1	1	0.500	1	2	0.333	0	0	1.0	3	0.333	1
F 16 Graber, Shawn 0 1	1	0	•	1	0.500	0	1	0	0	0	1	0.000	1	2	0.333	0	0	0.0	3	0.000	1
F 17 Voorhees, Cindy 0 0	0	0		0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 18 Apicella, Doreen 0 1	0	1		2	0.000	0	0	0	1	0	1	0.000	0	3	0.000	0	0	0.0	3	0.000	1
F 19 Amaru, Simeon 1 0	0	1	1	1	0.500	0	0	0	1	0	1	0.000	1	2	0.333	0	0	0.0	3	0.000	1
F2/ Ton 80 Proof         3         3           F 20         Theall, Ken         0         1	1	5		8	0.333 0.500	2	1 0	0	3	2	4	0.333	8	16 2	0.333	0	0	7.5	24 4	0.313	1
F 21 Gagner, Chris 0 1	0	1	-	2	0.000	0	0	0	1	0	1	0.000	0	3	0.000	0	0	1.0	3	0.333	1
F 22 Dehnel, Sebastian 0 0	0	1		1	0.000	0	1	0	1	0	2	0.000	0	3	0.000	0	0	3.0	3	1.000	1
F 23 Blake, Rick 1 0	Ő	1		1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0	0	3.5	4	0.875	1
F 24 Swartzel, David 1 0	0	1	1	1	0.500	1	0	0	0	1	0	1.000	2	1	0.667	0	0	0.0	3	0.000	1
F 25 Zuttel, Paul 0 0	0	0	0	0		0	0	0	1	0	1	0.000	0	1	0.000	0	0	0.0	1	0.000	1
F 26 Looney, JoDon 1 0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0	0	0.0	4	0.000	1
F 27 Frederickson, David "Butte 0 0	0	0		0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 28 Kotecki, Phil 0 1	0	0	v	1	0.000	1	0	0	0	1	0	1.000	1	1	0.500	0	0	0.0	2	0.000	1
$\frac{F3}{Dart Side of the Moon} \qquad 5 \qquad 1$	3	3		4	0.667	2	1	2	1	4	2	0.667	16	8	0.667	0	0	1.0	24	0.042	
F 30 Cornell, Blaine 0 0 F 31 Milling Miles 0 0	0	0 0		0 0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 31Millius, Mike00F 32Tisdale, Brian00	0 0	0		0		0 0	0 0	0 0	0 0	0 0	0 0		0 0	0 0		0 0	0 0	0.0 0.0	0 0		0 0
$\begin{array}{cccc} F & 32 & 1 \text{ isdale, Brian} & 0 & 0 \\ F & 33 & \text{Toko, Jeff} & 0 & 0 \end{array}$	0	0		0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 34 Furdon, Matt 1 0	1	1		1	0.667	1	1	2	0	3	1	0.750	5	2	0.714	0	0	0.0	7	0.000	1
F 35 Wilberg, Chelsea 2 0	1	0		0	1.000	1	1	1	0	2	1	0.750	5	1	0.833	0	0	0.0	6	0.000	1
F 36 Wilson, Misty 0 0	0	0		0		0	0	0	0	0	0		0	0		0	0	0.0	õ		0
F 37 Wilson, Jonathan 0 0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 38 Roseman, Sean 1 0	1	0	2	0	1.000	1	0	0	1	1	1	0.500	3	1	0.750	0	0	0.0	4	0.000	1
F 39 DiCaprio, Al 1 1	0	2		3	0.250	1	0	1	1	2	1	0.667	3	4	0.429	0	0	1.0	7	0.143	1
F4/ Bangin The Wire 4 2	3	3		5	0.583	3	0	2	1	5	1	0.833	17	7	0.708	0	0	12.0	24	0.500	
F 40 Williams, Kelsey 0 0	0	0		0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 41 White, John 1 0	1	0		0	1.000	1	0	1	0	2	0	1.000	4	0	1.000	0	0 0	2.0	4 4	0.500	1
F 42Prosser, Brad10F 43Bowen, Andy10	0 1	1 0	-	1 0	0.500 1.000	1	0 0	1 0	0 1	2 1	0 1	1.000 0.500	3 3	1 1	0.750 0.750	0 0	0	0.0 4.0	4	0.000 1.000	1 1
F 44 Port, Brian 0 1	0	1		2	0.000	1	0	1	0	2	0	1.000	2	2	0.750	0	0	3.5	4	0.875	1
F 45 Stark, Parker 1 0	0	1		ĩ	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	1.5	4	0.375	1
F 46 Foote, Patrick 0 0	0	0		0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 47 Owens, Joslin 0 0	0	0	0	0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 48 Gillette, Kendall 0 1	1	0	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0	0	1.0	4	0.250	1
F5/ The Neighborhood Dart Knights 2 4	3	3	5	7	0.417	0	3	1	2	1	5	0.167	7	17	0.292	0	0	7.0	24	0.292	
F 50 Markham, Jared 0 0	0	1		1	0.000	0	1	1	0	1	1	0.500	1	2	0.333	0	0	0.0	3	0.000	1
F 51 Amos, Terron 1 0	1	0		0	1.000	0	1	0	1	0	2	0.000	2	2	0.500	0	0	1.0	4	0.250	1
F 52 Swepson, Jerrell 1 0	1	0		0	1.000	0	1	0	1	0	2	0.000	2	2	0.500	0	0	3.5	4	0.875	1
F 53 Davis, P.J. 0 0 F 54 Millham, Mark 0 1	0	0		0 2	0.000	0 0	0 1	0 0	0 1	0 0	0 2	0.000	0 0	0 4	0.000	0 0	0 0	0.0 0.0	0 4	0.000	0
F 54 William, Mark 0 1 F 55 Lefebvre, C.J. 0 1	1	0		1	0.000	0	1	0	0	0	1	0.000	1	2	0.000	0	0	2.5	3	0.833	1
F 56 Assante, Tracy 0 1	0	0		1	0.000	0	1	0	1	0	2	0.000	0	3	0.000	0	0	0.0	3	0.000	1
F 57 Schaefer, Pat 0 1	0	1		2	0.000	0	0	1	0	1	$\frac{2}{0}$	1.000	1	2	0.333	0	0	0.0	3	0.000	1
F6/ Sofa Kings 3 3	5	1		4	0.667	1	2	3	0	4	2	0.667	16	8	0.667	0	0	6.0	24	0.250	
F 60 Keim, Roger 1 0	1	0		0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	0	0	1.0	4	0.250	1
F 61 Alcon, Tony 0 1	1	0	-	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	1.5	4	0.375	1
F 62 Bozza, Doug 0 0	0	0		0		0	0	0	0	0	0		0	0		0	0	0.0	0		0
F 63 Moore, Ken 0 1	0	0		1	0.000	0	1	0	0	0	1	0.000	0	2	0.000	0	0	0.0	2	0.000	1
F 64 Plotkin, Jeremy 0 0	1	0		0	1.000	1	0	1	0	2	0	1.000	3	0	1.000	0	0	1.0	3	0.333	1
F 65 Moore, Andrew 0 1 E 66 Comphell Agron 1 0	0			2 0	$0.000 \\ 1.000$	0	0	1	0 0	1 1	0	1.000	1	2 1	0.333	0 0	0 0	1.5	3 4	0.500	1
F 66Campbell, Aaron10F 67Rowe, Dan10	1	0 0		0	1.000	0 0	1 1	1 1	0	1	1 1	0.500 0.500	3 3	1	0.750 0.750	0	0	1.0 0.0	4	0.250 0.000	1
F 67 Rowe, Dan 1 0 F7/ Village Idiots 4 2	3	3		5	0.583	3	1 0	2	1	5	1	0.833	3 17	7	0.730	0	0	8.0	4 24	0.000	1
F 70 Hartley, Barron 0 1	0	0		1	0.000	0	0	0	1	0	1	0.000	0	2	0.000	0	0	0.0	24	0.000	1
F 71 Hartley, Bryan 1 0	0	1		1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0	0	2.0	4	0.500	1
F 72 Jones, Nick 1 0	1	0	2	0	1.000	1	0	0	0	1	0	1.000	3	0	1.000	0	0	4.0	3	1.333	1
F 73 Vivod, Josh 0 0	1	0		0	1.000	1	0	1	0	2	0	1.000	3	0	1.000	0	0	1.0	3	0.333	1
F 74 Haywood, Eric 1 0	0	1	-	1	0.500	1	0	0	0	1	0	1.000	2	1	0.667	0	0	1.0	3	0.333	1
F 75 Baugher, Mark 1 0	1	0		0	1.000	1	0	0	1	1	1	0.500	3	1	0.750	0	0	0.0	4	0.000	1
F 76 Walker, Steven 0 0	0	1	-	1	0.000	0	0	1	0	1	0	1.000	1	1	0.500	0	0	0.0	2	0.000	1
F 77Tyler, Robert01F8/ Shoot-Da-Bull15	0	0	0	1	0.000	1	0	1	0	2	0	1.000	2	1	0.667	0	0	0.0	3 24	0.000	1
F8/ Shoot-Da-Bull15F 80Thompson, Barry01	3	3		8 2	0.333	1 0	2	1 0	2	2 0	4 2	0.333 0.000	8	16 4	0.333	0	0	9.0 2.0	24 4	0.375	1
F 80 Thompson, Barry Jr. 0 1	0	0		2	0.000	0	1	0	1	0	2	0.000	0	4	0.000	0	0	2.0 0.0	4	0.300	1
F 82 Newton, Tammy 0 1	1	0		1	0.500	0	0	0	0	0	$\frac{2}{0}$		1	1	0.500	0	0	1.5	2	0.750	1
$\begin{array}{ccc} F & 0 \\ F & 83 \\ \end{array} & \text{Newton, Ted} \\ \end{array}  \begin{array}{ccc} 0 & 0 \\ 0 \\ \end{array}$	1	0	-	0	1.000	0	1	0	0	0	1	0.000	1	1	0.500	0	0	2.5	2	1.250	1
F 84 Blanes, Silver 0 1	0	1		2	0.000	0	1	1	0	1	1	0.500	1	3	0.250	0	0	0.0	4	0.000	1
E 95 Martine Casterna 0 0	0	1	0	1	0.000	1	0	1	0	2	0	1.000	2	1	0.667	0	0	1.0	3	0.333	1
F 85 Martinez, Gustavo 0 0																					
F 85         Martinez, Gustavo         0         0           F 86         Barnes, Adam         0         1           F 87         Beck, Paul         1         0	0	0 0		1 0	$0.000 \\ 1.000$	0 1	0 0	0 0	1 1	0 1	1 1	0.000 0.500	0 3	2	0.000 0.750	0 0	0 0	0.0 2.0	2 4	0.000 0.500	1 1

														_				Vs s		q	t	
							Win							Doubles Win %-age	Sngls + Dbls		Sngls + Dbls Win %-age	Tiebreaker Ws Tiebreaker Ls		Games Played	All-Star Point Average	
	gles		Singles	Cricket	Singles	Record	Singles Win %-age	Doubles	Cricket	Doubles		Doubles	Record	ubles 1ge	ls +	Record	Sngls + Dbl Win %-age	oreal	All-Star Points	nes I	All-Star Average	Matches Played
	Singles	301	Sing	Cric	Sing	Rec	Singles %-age	Dou	Cric	Dot	501	Dot	Rec	Double %-age	Sng	Rec	Sng Wir	Tieł Tieł	All-Sta Points	Gan	All- Ave	Mat Play
G1/ Runs with Corks	3	3	5	1	8	4	0.667	1	2	3	0	4	2	0.667	16	8	0.667	0 0	7.5	24	0.313	1
G 10 Fleener, Michael G 11 Jeffcoat, Angela	1 0	$\begin{array}{c} 0 \\ 0 \end{array}$	1 0	0 0	2 0	0 0	1.000	1	0 0	1	0 0	2 0	0 0	1.000	4 0	0 0	1.000	$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 0.0	4 0	0.000	1 0
G 12 Amarante, John	1	0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	0 0	1.5	4	0.375	1
G 13 Stumpf, Robert	0	1	1	0	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0 0	1.0	4	0.250	1
G 14 Spanko, Melanie	0	1	0	0	0	1	0.000	0	0	1	0	1	0	1.000	1	1	0.500	0 0	0.0	2	0.000	1
G 15 Newbold, Stephanie	0	0	0	0	0	0		0	1	0	0	0	1	0.000	0	1	0.000	0 0	0.0	1	0.000	1
G 16 Lymer, Dean	0	0	0	1	0	1	0.000	0	0	0	0	0	0		0	1	0.000	0 0	1.0	1	1.000	1
G 17 Moody, Chris	1	0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	0 0	2.5	4	0.625	1
G 18 Sweet, Jim G2/ Nein Mark	0	1	1	0	0	1	0.500	1	0	0	0	2	0	1.000	3	1 0	0.750	0 0 0	1.5	4	0.375	1
G 20 Updyke, Gerald	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 21 Additon, Chris	Ő	Ő	0	Ő	Ő	0		0	Ő	Ő	0	0	Õ		0	Ő		0 0	0.0	Ő		ů 0
G 22 Ferraro, Kimberly	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 23 Heath, John	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 24 Lang, John	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 25 Pender, Aime	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 26 Smith, Chris G 27 Whitley, Brian	0 0	$\begin{array}{c} 0 \\ 0 \end{array}$	0 0	0 0	0 0	0 0		0 0	0 0	0 0	0 0	0 0	0 0		0 0	0 0		$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 0.0	0		0 0
G 27 Whitey, Brian G 28 Wrenn, Cameron	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G3/ Rippin Darts	5	1	2	4	7	5	0.583	1	2	3	0	4	2	0.667	15	9	0.625	0 0	6.0	24	0.250	, v
G 30 Raymond, Erik	1	0	0	1	1	1	0.500	0	1	1	0	1	1	0.500	2	2	0.500	0 0	3.0	4	0.750	1
G 31 McDonald, Chase	1	0	0	1	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0 0	1.5	4	0.375	1
G 32 Helton, Dakota	1	0	1	0	2	0	1.000	0	1	1	0	1	1	0.500	3	1	0.750	0 0	0.0	4	0.000	1
G 33 Wood, Connor	0	1	1	0	1	1	0.500	1	0	1	0	2	0	1.000	3	1	0.750	0 0	0.0	4	0.000	1
G 34 Gylfason, Thorbjorn G 35 Kirk, Dylan	1	0	0	1	1	1 0	0.500	0 0	1	1	0 0	1 1	1 0	0.500	2	2 0	$0.500 \\ 1.000$	0 0	0.0	4 2	$0.000 \\ 0.000$	1
G 35 Kirk, Dylan G 36 Sugg, Bailey	1 0	0 0	0	0	1 0	1	$1.000 \\ 0.000$	0	0	1 0	0	0	1	$1.000 \\ 0.000$	2 0	2	0.000	$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 1.5	$\frac{2}{2}$	0.000	1
G4/ Punk in Drublic	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		1
G 40 Wissinger, Wes	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 41 Beene, Ryan	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 42 Gentry, Ryan	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 43 Authur, Corwin	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 44 Ruckus, Zach	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 45 Lee, Donny G 46 Ott, Davis	0	0 0	0 0	0 0	0 0	0 0		0	0 0	0 0	0 0	0 0	0 0		0 0	0 0		$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 0.0	0		0
G 47 Strickland, Jon	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 48 (paid - but unfilled)	Ő	0	0	0	Ő	Ő		0	Ő	Ő	0	Ő	Ő		0	ů 0		0 0	0.0	Ő		0 0
G5/ Ones are Closed	1	5	4	2	5	7	0.417	2	1	0	3	2	4	0.333	9	15	0.375	0 0	8.5	24	0.354	
G 50 Fishbeck, Brent	0	1	0	0	0	1	0.000	1	0	0	1	1	1	0.500	1	2	0.333	0 0	3.5	3	1.167	1
G 51 Iessi, Austin	0	0	1	0	1	0	1.000	0	1	0	0	0	1	0.000	1	1	0.500	0 0	3.0	2	1.500	1
G 52 Rivera-Santiago, Joseph	0	0	1	0	1	0	1.000	1	0	0	0	1	0	1.000	2	0	1.000	0 0	0.0	2	0.000	1
G 53 Steiner, Tank G 54 Kelly, Mike	0	0 0	1	0 0	1 2	0 0	$1.000 \\ 1.000$	0 1	0 0	0	1 1	0 1	1	$0.000 \\ 0.500$	1 3	1 1	0.500 0.750	$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 0.0	2 4	$0.000 \\ 0.000$	1
G 55 Garcia, Cinthya	0	1	0	0	0	1	0.000	0	0	0	1	0	1	0.000	0	2	0.000	0 0	0.0	2	0.000	1
G 56 Jimenez, Eduardo	0	1	0	0	0	1	0.000	0	0	0	1	0	1	0.000	0	2	0.000	0 0	1.0	2	0.500	1
G 57 Cooper, Glenn	0	1	0	1	0	2	0.000	0	0	0	1	0	1	0.000	0	3	0.000	0 0	0.0	3	0.000	1
G 58 Bailey, Craig	0	1	0	0	0	1	0.000	1	0	0	0	1	0	1.000	1	1	0.500	0 0	0.0	2	0.000	1
G 59 Tousley, Kristen	0	0	0	1	0	1	0.000	0	1	0	0	0	1	0.000	0	2	0.000	0 0	1.0	2	0.500	1
G6/ We're Sexy & We Throw It	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0		0		0
G 60 McNamara, Ken G 61 McNamara, Karen	0	$\begin{array}{c} 0 \\ 0 \end{array}$	0	0 0	0	0		0 0	0 0	0	0	0 0	0 0		0	0 0		$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 0.0	0		0 0
G 61 McNamara, Karen G 62 Bohanan, Heather	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 63 Ross, Anne	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 64 Jones, Mike	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 65 Crawford, Neal	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 66 VanLienen, Dawn	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 67 Morlando, Jim	0	0	0	0	0	0		0	0	0	0	0	0		0	0		$   \begin{array}{ccc}       0 & 0 \\       0 & 0   \end{array} $	0.0	0		0
G 68 Balint, Joey G7/ The Rock Bottoms	0	0	0	0	0	0 8	0.333	0	0	0	0	0	0	0.333	0	0 16	0.333	0 0	0.0	0 24	0.438	U
G 70 Smith, Lauren	3	0	1	0	4	8 0	1.000	2	0	0	3	1	4	0.333	8 3	10	0.333	0 0	2.0	4	0.438	1
G 70 Smith, Jason	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
G 72 Crabtree, Traci	0	1	0	2	0	3	0.000	0	1	0	1	0	2	0.000	0	5	0.000	0 0	0.0	5	0.000	1
G 73 Hager, Ginny	1	0	0	1	1	1	0.500	0	1	0	1	0	2	0.000	1	3	0.250	0 0	1.0	4	0.250	1
G 74 Tschetter, Aaron	0	1	0	1	0	2	0.000	1	0	0	1	1	1	0.500	1	3	0.250	0 0	1.5	4	0.375	1
G 75 McMillan, Evan	0	1	0	0	0	1	0.000	1	0	0	1	1	1	0.500	1	2	0.333	0 0	3.0	3	1.000	1
G 76 Hobgood, A. G 77 Stroud, David	0	0 0	0	0 0	0 0	0 0		0	0 0	0 0	0 0	0 0	0 0		0 0	0 0		$\begin{array}{cc} 0 & 0 \\ 0 & 0 \end{array}$	0.0 0.0	0		0
G 77 Stroud, David G 78 Crabtree, Reagan	1	0	0	1	1	1	0.500	1	0	0	1	1	1	0.500	2	2	0.500	0 0	3.0	4	0.750	1
G 79 Thomas, Amy	0	0	0	0	0	0		0	0	0	0	0	0		0	0		0 0	0.0	0		0
· · · · · · · · · · · · · · · · · · ·											-		-									